

Southgate Cricket Club 2013 Season Review



Well, at least we won something this year ...

Southgate CC Under 21s claim the Middlesex Cricket Board Development Shield; the Hertgate Trophy falls to a victorious Southgate team; ... and oh, so nearly, the 3rd XI cruelly



manipulated out of promotion back into the Middlesex County League.

Read about the facts and figures of the 2013 season!

SOUTHGATE CRICKET CLUB 2013 REVIEW



TABLE OF CONTENTS

Topic	Page
Table of Contents	3
Results Table	4
The 2013 Season - Introduction	5
End of Season Awards	6
Batting Averages	7
Bowling Averages	9
Highlights of 2013:	11
Batting totals	11
Centuries	11
Large partnerships	12
Bowling: five wickets or more	12
Economical analyses Fielding and miscellaneous statistical items	12 13
1 st XI League Table	13
1 st XI League Report	15
1 st XI League Averages	20
2 nd XI League Table	21
2 nd XI League news item	22
2 nd XI team photograph	23
2 nd XI League Averages	24
3 rd XI League Table	25
3 rd XI team photograph	25
3 rd XI League Averages	26
Tribute to Ted Major	27
4 th XI news	28
1987 League 4 th XI leading averages	28
Southgate Colts	29
Tribute to Guy Hammond	31
Tribute to Maciej Maciejewski	32
Middlesex County League leading averages	33
SCC Players Career Averages – batting	34
- howling	37

Southgate Cricket Club 2013

Results

Category	Fixtures	Won	Tied	Drawn	Lost	Aband	Canc'd
1st XI Middlesex League	18	6	0	5	6	0	1
1 st XI Cup matches	6	1	0	0	4	0	1
2 nd XI Middlesex League	18	7	0	4	5	1	1
3 rd XI 1987 League	18	10	0	5	2	0	1
4 th XI 1987 League friendlies	18	2	0	1	4	0	11
1 st XI Friendly	10	1	0	0	6	0	3
2 nd XI Friendly	19	1	0	2	2	0	14
Other Friendly	3	1	0	0	0	0	2
Totals	110	29	0	17	29	1	34

Sponsored by

Underpin and Makegood

(Contracting) Ltd

37 Millmarsh Lane, Enfield, Middlesex EN3 7UY

Tel: 020 8805 4000 Fax: 020 8805 4222 DDI: 020 8344 4141



Ricky Gunn

2013 should have been a summer of cricketing consolidation as we picked ourselves up from the disappointments of the previous year's campaign. This was largely achieved with the 1^{st} XI re-establishing itself as a competitive side and although finishing 6^{th} , were only four points behind the 3^{rd} side, with five clubs finishing within a five-point band.

Just that one win that got away would have made such a visible difference to our final placing. The side was rocked even before the first league match by the new captain Faisal Mir's Achilles tendon injury incurred when batting in the early season National Cup round against Colchester & East Essex. It was an unfortunately catastrophic start for Faisal who sat on the sidelines until 3rd August by which time three-quarters of the major games had been played.

Tasmanian (but via St Kilda CC, Melbourne) Chris Blake batted reliably to score 743 league runs at an average marginally under 50, and Tom Edrich continued to blossom with 609 at 43.50. Both batsmen scored their maiden Middlesex League hundreds away at Shepherds Bush, sharing an opening partnership of 217. David Woffinden bowled like a dream mesmerising batsmen with late movement in the air to take 38 1st XI League wickets at a miserly 13.71. Ashley Sivarajah continued his rapid progress to take 36 wickets at 23.16 while Rob Johnson bolstered the attack with 23 at 20.00. The 2nd XI won five of their first ten league games but faltered in the second half of the season to finish fifth. However, they enjoyed a winning draw and a spectacular away win against Ickenham (chasing a daunting 327) who in fact won promotion. The momentum must be maintained in order to ratchet ourselves away from third division opposition and back into mainstream company. The 2nd XI scored a lot of runs between them, with Max Joseph (372) and Karl Jankowicz (369) the principal scorers and Adeel Saeed scoring two early centuries. The bowlers, however, didn't take a commensurate number of wickets, with only Sam Faruqi and Suresh Kalagara (24 each) providing a consistent threat.

By the end of the final league day the 3rd XI had won the 1987 Cricket League Division One championship, only for this to be snatched away from them a fortnight later by a penalty reversal in favour of Middlesex Tamils SSC. It was all the more ironic in that the first game of the season against MTSSC was drawn but only because a blatant catch had been turned down through the combined ignorance of the striker and his 'umpiring' colleague. However, it had been a very successful and enjoyable season and Mike Carter is to be congratulated on coaxing a regularly variable side into a winning unit. The 4th XI invariably failed to raise enough players to field a side and, although some games deemed as friendlies were played, the side was scratched from the 5th Division of the 1987 League to our acute embarrassment.

Jamie Jouning, in his limited appearances this year, added almost 200 runs to his record 1st XI League aggregate and is still a tantalisingly 115 short of Finchley's Mike Milton's record of

7,943. Alvin Durgacharan finds himself agonisingly anchored on 4,979 1st XI League runs, and Tuan Hadgie on 99 wickets. Congratulations to Tom Edrich who exceeded 1,000 runs in the season (1,222), the first time since Alvin Durgacharan in 2009. Hearty congratulations too, to Adrian Carr who has just reached 9,000 career runs for Southgate to complement his 1,075 wickets.

Many thanks to President Peter Jouning who maintains a high profile at the club, attending regular meetings, and masterminding a summer lunch for former presidents, vice-presidents and honorary members and Christmas lunch for all members. His active promotion of the 200 Club, a vital source of additional funds for the club, has resulted in a surge of membership so that numbers sold now amount to 180.

RDG



End of Season Awards 2013

Hawker Trophy: Tom Edrich

Chris Stevenson Batting Trophy: Chris Blake

Derek Honnor Bowling Trophy: Dave Woffinden

Colin Done Young Cricketer of the Year Trophy: Ashley Sivarajah

Outstanding Colt: Mustapha Mirza

Martin Fletcher Clubman of the Year Trophy: Doug Gordon

Geoff Slipper Spirit of Cricket Trophy: Raymond Bynoe

Steve Rowe "Dunkirk" Trophy: The 3rd XI

Derek Honnor Newsletter Correspondent Award: Paul Lassman

Mike Dunn Lifetime Achievement Cap: Ricky Gunn



Piano Award: Ollie Bellwood



-										
	B	ATTI	NG	AV	ERA	GES:	201 .	3		
	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St
					(* = n.o)					
W. S. J. Temple	11	5	4	47	19*	47.00	-	-	9	5
C. M. C. Blake	20	20	2	814	115	45.22	1	5	5	-
S. R. Ellis	6	5	1	173	69*	43.25	-	1	0	1
T. W. Edrich	33	33	3	1222	115	40.73	3	6	14	-
J. B. Jouning	15	14	6	310	52*	38.75	-	2	9	_
K. Jankowicz	12	10	0	371	85	37.10	_	3	5	_
P. J. Robinson	10	10	2	284	106*	35.50	1	_	2	_
S. Kalagara	19	14	5	292	60*	32.44	_	2	3	_
R. K. A. Bynoe	25	21	6	478	66*	31.86	_	2	10	_
A. M. Jouning	8	7	2	157	48	31.40	_	_	6	_
D. Gordon	9	7	0	219	96	31.28	_	1	3	_
R. Uppal	4	4	0	125	56	31.25	_	1	3	_
D. Robson	4	3	1	62	43	31.00	_	_	6	_
J. D. Berman	30	20	6	395	59	28.21	_	2	7	_
A. Saeed	15	14	2	354	110*	27.23	2	_	1	_
M. P. G. Joseph	16	16	2	377	78*	26.92	_	2	7	_
R. A. Johnson	22	20	5	400	71*	26.66	_	3	10	_
K. Setia	15	13	3	254	56	25.40	_	1	9	
A. Lynch	13	13	3	250	96*	25.00	_	1	5	_
R. D. Gunn	19	15	6	216	40	24.00	_	-	11	7
P. Robson	8	8	1	165	73*	23.57	-	1	1	,
T. J. Yeomans	12	12	2	233	70	23.30	-	2	3	_
P. M. Dunnett	27	24		452	111	23.50	- 1	1	25	12
	27		4 2				1	3		12
M. Hughes		22		452	76*	22.60	-	3	6	-
R. Desai	17	11	8	65 50	16*	21.66	-	-	3	
W. Dias	10	6	3	59 50	31	19.66	-	-	5	-
J. D. Dangerfield	4	3	0	59 20	33	19.66	-	-	3	-
L. Babwah	4	3	1	39	25	19.50	-	-	1	-
S-R. Sharma	16	15	1	268	85*	19.14	-	2	4	-
F. Mir	11	9	1	150	56*	18.75	-	2	2	-
T. H. L. Hadgie	16	11	2	167	60	18.55	-	1	8	-
A. K. Durgacharan	16	16	1	278	46	18.53	-	-	6	-
M. De Crescenzo	22	22	2	363	89	18.15	-	2	6	-
A. J. Carr	18	9	7	36	8*	18.00	-	-	3	-
T. J. Allan	5	4	0	71	35	17.75	-	-	5	-
A. Kennedy	11	10	3	122	36*	17.42	-	-	5	-
P. K. Lassman	23	22	1	349	71	16.62	-	1	9	-
D. A. Woffinden	14	8	1	111	42*	15.85	-	-	2	-
O. Bellwood	20	19	2	248	48	14.58		-	6	-
R. A. Marett	16	8	4	53	15*	13.25		-	6	-
M. D. Carter	15	8	2	79	23	13.17	-	-	9	-
M. L. Stratten	20	20	2	233	53*	12.94	-	1	5	-

Continued

Batting averages continued

	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St
				((*=n.o)					
T. Wickham	4	4	0	51	35	12.75	-	-	-	-
S. Syed	8	7	0	89	21	12.71	-	-	-	-
S. Faruqi	21	12	4	104	32	11.44	-	-	5	-
O. Hassan	17	12	2	114	28	11.40	-	-	12	4
S. Rae	9	8	0	78	41	9.75	-	-	4	-
A. P. Sivarajah	26	15	5	95	21*	9.50	-	-	5	-
R. Martin	5	3	1	17	13*	8.50	-	-	1	-
S. Wadham	18	12	1	88	24	8.00	-	-	4	-
M. Sundara	6	5	0	37	26	7.40	-	-	-	-
M. Milne	6	4	1	19	13*	6.33	-	-	2	-
J. Geale	4	4	0	24	12	6.00	-	-	7	-
S. Ashton	4	4	0	22	14	5.50	-	-	1	-
S. M. Babwah	4	3	0	17	15	5.66	-	-	-	-
N. Sugumaran	12	5	3	10	5	5.00	-	-	1	-
D. K. Walters	9	5	1	16	7	4.00	-	-	1	-
M. Dias	7	3	0	7	4	2.33	-	-	5	-
H. Bajwa	15	7	2	8	3	1.60	-	-	2	-

Also played

Three matches: D. G. Ashley dnb, 9, 5; J. N. Dangerfield 2, 3, 1; M. Grainger 5, 0, 5; C. St Hill 33 (2 ct); A. Khan 0; A. G. H. Rolt dnb, 1*, dnb; S. A. Sultani 11, 12, dnb; J. Thomson dnb, 3, 7 (1 ct).

Two matches: O. Ali dnb, 2; P. Davis 2, 4*; G. Dissanayake 15, dnb; C. Forden dnb, 0; P. Kuleratne 32, 0 (1 ct); J. Lisamore 4, 6*; R. Luder 0, 2; P. McLoughlin 5*, 4 (1 ct); M. Mirza 5, dnb; D. Pyzer-Knapp 2, 72 (1 ct 1 st); A. Quiyum 26, 17; C. A. Silva 18, 7; H. Thompson 6, 9 (1 ct); J. van der Welde 11*, 0.

One match: S. Abraham dnb; R. Bishop-Laggett 31*; G. N. Blackmore dnb; G. Clark dnb (1 ct); P. Clark 42 (1 ct); T. Clark dnb; R. Corns 7; T. Greed 10; I. W. Henley 1; R. Luder 2; M. Lurie 0; D. Marett dnb; M. Millar 19; B. Oduwole 0; G. Rolt 4*; M. Singh 12; L. J. W. Stokes 0; A. P. Young 9* (1 ct); R. Zaman 18.

100 players; 13,370 runs scored (inc 1,481 extras); 318 catches taken and 30 stumpings. 10 catches were unidentified this year, most of which were in the Under 21 Development XI matches.



BOWLING AVERAGES 2013

	Overs	Mdns	Runs	Wkts	Average	Best	5wkts	S/Rate	Economy
					_			Balls/wkt	Runs/over
R. Desai	153.2	23	556	40	13.90	5-23	2	23.00	3.62
D. A. Woffinden	200.3	49	656	47	13.95	7-63	3	25.59	3.27
R. A. Marett	174.1	32	526	33	15.93	5-64	1	31.66	3.02
A. J. Carr	178.5	39	512	32	16.00	6-43	1	33.53	2.84
R. K. A. Bynoe	202.3	44	610	35	17.42	4-5	-	34.71	3.01
N. Sugumaran	82.0	8	292	16	18.25	4-26	-	30.75	3.56
S. Faruqi	149.4	18	621	33	18.81	6-29	2	27.21	4.14
M. Sundara	36.4	11	114	6	19.00	2-15	-	36.66	3.10
M. D. Carter	123.0	20	446	23	19.39	7-60	1	32.08	3.62
A. P. Sivarajah	319.0	49	1168	57	20.49	5-96	1	33.58	3.66
R. A. Johnson	166.1	19	699	34	20.55	4-53	-	29.32	4.20
M. Milne	42.0	1	155	7	22.14	2-22	-	36.00	3.69
S. Kalagara	163.2	28	603	27	22.33	5-36	2	36.29	3.69
K. Jankowicz	53.1	4	211	9	23.44	3-17	-	35.44	3.96
K. Setia	35.0	1	166	7	23.71	4-40	-	30.00	4.74
M. Dias	40.3	3	195	8	24.37	3-23	-	30.37	4.81
M. L. Stratten	46.5	5	225	9	25.00	3-50	-	31.00	4.83
T. H. L. Hadgie	118.5	25	388	12	32.33	2-9	-	59.41	3.26
H. Bajwa	76.1	7	395	12	32.91	3-7	-	38.08	5.18
S. Wadham	116.0	19	465	13	35.76	2-7	-	53.53	4.00
J. D. Berman	151.3	24	596	16	37.25	2-17	-	56.81	3.93
F. Mir	45.0	0	261	7	38.57	3-37	-	38.57	5.80
C. M. C. Blake	99.2	9	429	10	42.90	3-14	-	59.60	4.31
W. Dias	49.0	4	220	5	44.00	2-18	-	58.80	4.49
Also bowled (betwee	n 10 and	20 07	owa)•						
Also bowled (betwee				Wkts	A = 2 = 0	Dogs	<i>5</i>	C/Data	Economy
J. N. Dangerfield	Overs 25.0	4	85	WKIS	Av'ge 10.62	Best 4-20	5w -	S/Rate 18.75	Economy 3.40
A. M. Jouning	12.0	1	58	o 5	10.62	5-12	- 1	14.40	4.83
J. Lisamore	12.0	1	43	3	14.33	2-29	-	24.00	3.58
S. M. Babwah	26.0	5	4 3	5	15.40	2-14	-	31.20	2.96
P. Kuleratne	18.0	1	89	5	17.80	4-65	-	21.60	4.94
D. Gordon	17.0	0	73	4	18.25	0-18	_	25.50	4.29
J. van der Welde	23.0	1	73 74	4	18.50	2-36	_	34.50	3.21
H. Thompson	16.0	0	60	3	20.00	2-30	_	32.00	3.75
R. Corns	12.2	0	47	4	23.50	4-47	-	18.50	3.73
T. J. Yeomans	24.1	5	74	3	24.66	3-41	_	48.33	3.06
D. K. Walters	16.0	1	7 4 74	3	24.66	2-23	-	32.00	4.63
P. M. Dunnett	18.0	2	7 4 78	2	39.00	3-48	-	54.00	4.03
M. De Crescenzo	27.4	0	204	7	29.14	4-37	-	22.85	7.65
S. Ashton	12.0	0	61	2	30.50	1-61	-	36.00	5.08
J. Thomson	16.0	2	92	3	30.66	1-16	-	32.00	5.75
J. THOMISON	10.0	4	14	5	50.00	1-10	-	52.00	3.13

Bowling averages continued

C. Forden	13.0	5	33	1	33.00	1-26	-	78.00	2.53
S. A. Sultani	17.0	2	53	1	53.00	1-15	-	102.00	3.11
O. Bellwood	10.0	0	56	1	56.00	1-38	-	60.00	5.60
R. Martin	29.0	4	136	2	68.00	1-18	-	87.00	4.69
A. Quiyum	15.0	4	55	0	-	0-17	-	-	3.66

Also bowled (under 10 overs)

- S. Abraham 7.0-0-35-1; L. Babwah 3.0-0-31-0; T. Clark 4.0-0-30-0; P. Davis 6.0-1-36-1;
- G. Dissanayeke 6.0-0-49-1; M. Grainger 4.0-0-24-1; A. Kennedy 2.0-0-6-0; A. Lynch 4.0-0-34-
- 1; S. Rae 6.0-0-62-0; P. Robinson 3.4-0-18-0; D. Robson 1.0-0-1-0; A. G. H. Rolt 8.4-0-53-2;
- G. Rolt 6.0-0-27-0; A. Saeed 4.4-0-28-0; C. A. Silva 9.0-2-48-0; S. Syed 2.0-0-20-0;
- T. Wickham 1.0-0-9-0; A. P. Young 4.0-0-26-2.

John Troughton



John Troughton died on 19th July aged 88. Elected to the club in 1941, John was an opening batsman for the Extra 1st XI at a time when the club entertained two 1st XI oppositions on each match day.

A former Westminster (later NatWest) Bank manager, John served the Club in many capacities between 1959 and 1976, chairing the General Committee and various sub-committees in addition to being Honorary Club Treasurer 1966-70. In the early '80s he served as a Trustee of the Walker Trust. He regularly attended club social functions and was a keen member of Old Fold Golf Club.

On the field, John's top score was his 107 for the 2nd XI away against Stort in 1961. In 1952 he shared in a second wicket partnership of 146 with Horace Wass, scoring 60 in a 1st XI home match against Blackheath. His last game was for the 2nd XI against Loughton in 1970, when as a fellow victim we collapsed to 17-7 before Iain Walls and Peter Heard effected a recovery, after which John probably felt enough was enough!

As a 16 year-old in 1941 John completed a hat-trick against the Public School Wanderers XI.

An immensely likeable man, he will be much missed. Our sincere condolences go to Sylvia and the family.

RDG

HIGHLIGHTS OF 2013

(NB: ML = Middlesex County League; NCKO= National Knockout)

BATTING

Large Totals For:

```
331 for 7 2<sup>nd</sup> XI v Ickenham II (ML) (a) (to win)
303 for 9 2<sup>nd</sup> XI v North London II (ML) (a)
285 for 7 1<sup>st</sup> XI v Shepherds Bush I (ML) (a)
270 1<sup>st</sup> XI v Ickenham I (ML) (a)
265 for 3 2<sup>nd</sup> XI v Edmonton II (ML) (a)
258 for 5 2<sup>nd</sup> XI v Wycombe House II (ML) (a)
253 for 6 4<sup>th</sup> XI v Turnham Green/Polytechnic IV (h)
```

Against:

```
327 for 2 Ickenham II v 2<sup>nd</sup> XI (ML) (a) (but lost)
299 for 5 Colchester & East Essex I v 1<sup>st</sup> XI (ECB NCKO) (h)
```

Lowest All-Out Totals (under 100)

90	3 rd XI v Enfield III (1987L) (h)
93	3 rd XI v South Hampstead IV (1987L) (h)
95	2 nd XI v Kenton II (ML) (a)

Lowest Totals (Oppositions):

94	Wycombe House III v 3 rd XI (1987L) (h)
96	Enfield III v 3 rd XI (1987L) (a)
98	Ickenham I v 1 st XI (ML) (h)

Centuries (8)

A. Saeed	110*	2nd XI v North London II (ML) (a)
A. Saeed	100	2nd XI v Bessborough II (ML) (h)
P. J. Robinson	106*	2nd XI v Bessborough II (ML) (h)
P. M. Dunnett	111	Sunday XI v Harrow-on-the-Hill (h)
C. M. C. Blake	115	1st XI v Shepherds Bush I (ML) (a)
T. W. Edrich	115	1 st XI v Shepherds Bush (I ML) (a)
T. W. Edrich	108	1 st XI v Cockfosters I (h)
T. W. Edrich	100	1 st XI v Holtwhites Trinibis I (Jim Conroy Cup) (a)

Large Partnerships (* = not out/unbroken partnership)

```
1<sup>st</sup> wkt 217 (C. M. C. Blake 115, T. W. Edrich 115) 1<sup>st</sup> XI v Shepherds Bush I (ML) (a) 1<sup>st</sup> wkt 146 (M. Hughes 75, K. Jankowicz 80) 2<sup>nd</sup> XI v Ickenham II (ML) (a) 1<sup>st</sup> wkt 139 (D. Gordon 54, M. De Crescenzo 89) 4<sup>th</sup> XI v Turnham Green & Poly IV (1987L) (h) 1<sup>st</sup> wkt 112 (C. M. C. Blake 88, T. W. Edrich 33) 1<sup>st</sup> XI Ickenham I (ML) (a) 1<sup>st</sup> wkt 111 (P. K. Lassman 39, S. Sharma 85*) 3<sup>rd</sup> XI v Teddington IV (1987L) (a) 2<sup>nd</sup> wkt 73 (T. J. Yeomans 70*, M. P. G. Joseph 27) 2<sup>nd</sup> XI v Enfield II (ML) (h) 3<sup>rd</sup> wkt 197 (P. J. Robinson 106*, A. Saeed 100) 2nd XI v Bessborough II (ML) (h) 3<sup>rd</sup> wkt 101* (M. P. Joseph 78*, D.A. Woffinden 42*) 2<sup>nd</sup> XI v Kenton II (ML) (h) 4<sup>th</sup> wkt 120* (M. P. Joseph 74*, S Ellis 69*) 2<sup>nd</sup> XI v Edmonton II (ML) (a)
```

```
5<sup>th</sup> wkt 67 (F. Mir 51, R. Johnson 52*) 1<sup>st</sup> XI v Harpenden I (a)
6<sup>th</sup> wkt 118* (M. L. Stratten 53*, S. Kalagara 60*) 2<sup>nd</sup> XI v Wycombe House II (ML) (a)
7<sup>th</sup> wkt 75 (D. Robson 43, P. K. Lassman 71) 3<sup>rd</sup> XI v Old Actonians III (1987L) (a)
7<sup>th</sup> wkt 61 (R. A. Johnson 54, K. Setia 18) 1<sup>st</sup> XI v Ickenham I (ML) (a)
8<sup>th</sup> wkt 50* (R. Bynoe 30*, P. A. Sivarajah 21*) Under 21 Dev XI v Sheen Park Under 21 Dev XI
9<sup>th</sup> wkt 70+ (unrecorded) (T. W. Edrich 108, R. Bynoe 37) 1st XI v Cockfosters I (h)
9<sup>th</sup> wkt 54 (S. Wadham 24, S. Kalagara 31) 1<sup>st</sup> XI v Hemel Hempstead I (h)
10<sup>th</sup> wkt 74 (S. Kalagara 57*, S. Faruqi 32) 2<sup>nd</sup> XI v South Hampstead II (ML) (h)
```

BOWLING

Five or more wickets in an innings (14):

M. D. Carter	7-60	3rd XI v Old Actonians (1987L) (a)
D. A. Woffinden	7-63	2 nd XI v Kenton II (ML) (h)
D. A. Woffinden	6-21	1 st XI v Ickenham I (ML) (h)
S. Faruqi	6-29	2 nd XI v South Hampstead II (ML) (h)
A. J. Carr	6-46	3 rd XI v South Hampstead IV (1987L) (a)
S. Faruqi	5-11	2 nd XI v Bessborough II (ML) (h)
A. M. Jouning	5-12	3 rd XI v Twickenham IV (1987L) (h)
R. Desai	5-23	3 rd XI v Old Actonians III (1987L) (h)
R. Desai	5-29	3 rd XI v South Hampstead IV (1987L) (h)
S. Kalagara	5-36	2 nd XI v Bessborough II (ML) (a)
S. Kalagara	5-38	2 nd XI v North London II (ML) (h)
D. A. Woffinden	5-62	1 st XI v Harrow Town I (ML) (a)
R. A. Marett	5-64	3 rd XI v Bessborough III (1987L) (a)
A. P. Sivarajah	5-96	1 st XI v Uxbridge I (ML) (h)

Economical bowling analyses:

R. K. A. Bynoe	9.1-6-5-4	3 rd XI v Enfield III (1987L) (a)
C. Forden	9.0-4-7-0	2 nd XI v North London II (ML) (a)
S. Wadham	10-6-10-2	2 nd XI v Wycombe House II (ML) (h)
T. A. L. Hadgie	10.0-4-12-0	1 st XI v Uxbridge I (ML) (a)
M. Sundara	11.0-5-15-2	4 th XI v Chaseville (a)
S. A. Sultani	10-2-15-1	4 th XI v Chaseville (a)
A. J. Carr	12.0-5-18-2	2 nd XI v North London II (ML) (h)
J. N. Dangerfield	12.0-4-20-4	4 th XI v Turnham Green & Polytechnic (h)
R. A. Johnson	9.0-4-14-2	1 st XI v Hemel Hempstead I (h)
C. M. C. Blake	8.2-1-14-3	1 st XI v Harrow Town I (ML) (h)
S. M. Babwah	8.0-3-14-2	4 th XI v North London V (h)
A. J. Carr	16.0-3-30-4	2 nd XI v Wycombe House II (ML) (h)
R. K. A. Bynoe	10.0-2-19-0	1 st XI v MCC (h)
D. A. Woffinden	10.4-2-21-6	1 st XI v Ickenham I (ML) (h)
A. J. Carr	8.0-2-16-4	2 nd XI v Wycombe House II (ML) (a)
T. A. L. Hadgie	7.0-2-9-2	1 st XI v Harrow Town I (ML) (h)
S. Faruqi	7.4-3-11-5	2 nd XI v Bessborough II (ML) (h)
R. Bynoe	7.0-5-10-2	2 nd XI v Highgate II (ML) (a)
N. Sugumaran	7.0-1-12-1	4 th XI v Old Citizens (h)
S. Faruqi	11.0-4-21-1	2 nd XI v Highgate II (ML) (h)

FIELDING

Dismissals during an innings

In the field: 3 catches J. Geale 3rd XI v MTSSC III (1987L) (h)

3 catches J. Geale 3rd XI v Old Actonians III (1987L) (a) 3 catches M. D. Carter 3rd XI v Wycombe House III (1987L) (h) 3 catches T. J. Allen 1st XI v North Middlesex I (ML) (h)

3 catches K. Setia 1st XI v Ickenham I (ML) (a) 3 catches W. Dias 4th XI v Hampstead IV (a)

3 catches A. Kennedy 3rd XI v South Hampstead IV (1987L) (a)

Wicketkeeping: 4 (3 ct 1 st)

R. D. Gunn, 1st XI v Hertford I (Hertgate Trophy) (a)

Miscellaneous

High-scoring Extras: 33 conceded by Wycombe House III v 3rd XI (1987L) (a)

Biggest victories: Won by 157 runs 2nd XI v Edmonton II (ML) (a)

Won by 151 runs

2nd XI v Wycombe House II (ML) (a)

2nd XI v Bessborough II (ML) (h)

Heaviest defeats: Lost by 8 wkts 1st XI v Middlesex 1987 League XI (h)

Lost by 8 wkts Sunday XI v Harrow-on-the-Hill (h)

Lost by 8 wkts 1st XI v Cockfosters I (h)



1st XI v Harrow

Back l-r: Adeel Saeed, Chris Blake, Ashley Sivarajah, Tom Edrich, Josh Berman, Haseeb Bajwa, Karan Setia.

Front: Rob Johnson, Faisal Mir, Phil Dunnett, Jamie Jouning.

MIDDLESEX COUNTY CRICKET LEAGUE

FIRST TEAM LEAGUE TABLES 2013

ECB Middlesex Premier League												
	Games Played	Won 10pts	Tied 5pts	Drawn 4pts	Drawn 1pt	Aband 1pt	Lost Opt	Pen Pts	Total Points			
Hampstead	18	12	0	2	0	2	2		<i>130</i>			
Ealing	18	11	0	0	1	1	5		112			
Stanmore	18	7	0	4	2	1	4		89			
Twickenham	18	8	0	1	2	2	5		88			
Richmond	18	7	0	1	1	2	7		<i>77</i>			
Teddington	18	6	0	2	0	2	8		<i>70</i>			
Finchley	18	6	0	1	1	1	9		66			
Hornsey	18	5	0	0	4	1	8		<i>55</i>			
Winchmore Hill	18	4	0	1	1	2	10		47			
Eastcote	18	<i>3</i>	0	1	1	2	11	(20)	<i>17</i>			

Division Two - First Teams											
	Games Played	Won 10pts	Tied 5pts	Drawn 4pts	Drawn 1pt	Aband 1pt	Lost Opt	Pen Pts	Total Points		
North Middlesex	18	11	0	0	1	2	4		113		
Brondesbury	18	9	0	4	1	2	2		109		
Shepherds Bush	18	6	0	<i>3</i>	3	1	5		<i>76</i>		
Harrow St Mary's	18	6	0	2	4	2	4		<i>74</i>		
Harrow	18	5	0	5	2	2	4		<i>74</i>		
Southgate	18	6	0	2	3	1	6		<i>72</i>		
Uxbridge	18	6	0	2	2	1	7		<i>71</i>		
Brentham	18	4	0	<i>3</i>	5	1	5		<i>5</i> 8		
Ickenham	18	2	0	<i>3</i>	3	1	9		<i>36</i>		
Harrow Town	18	2	0	2	2	1	11	(1)	<i>30</i>		

Division Three - First Teams													
Games Won Tied Drawn Drawn Aband Lost Tota Played 10pts 5pts 4pts 1pt 1pt 0pt Points													
Enfield	18	9	0	4	2	2	1	110					
Indian Gymkhana	18	9	0	1	2	1	5	<i>97</i>					
Highgate	18	7	0	4	1	2	4	89					
Acton	18	7	0	2	4	1	4	<i>83</i>					
Kenton	18	7	0	1	1	2	7	<i>77</i>					
Barnes	18	6	0	<i>3</i>	2	2	5	<i>76</i>					
Wembley	18	5	0	<i>3</i>	1	1	8	64					
South Hampstead	18	4	0	4	<i>3</i>	1	6	<i>60</i>					
North London	18	5	0	0	<i>3</i>	1	9	<i>54</i>					
Edmonton	18	1	0	1	4	1	11	19					

1st XI Report

Faisal Mir

The 2013 campaign for the Southgate 1st team was very much an exercise of rebuilding and transition at the club. After our dismissal performance in the Prem the year before where we were blown away in most matches, we realised that the team we had was simply not good enough for that league and it was time to go back to the drawing board.

It was a great honour to be elected club captain after being backed by the senior and younger members within the club and the emphasis was going to be on change. The vision is to try to build a squad good enough within 2/3 years to achieve promotion into the top league and consolidate our position in that league. I've been part of the squad for the last three occasions when we have been relegated from the Prem within the last 10 years, only surviving the 2003 season; the rest we've been relegated in the same season. The plan is to build a side good enough to ensure our position in the Prem as ultimately it's where you need to be playing as a cricketer and a good breeding ground to attract more top quality players.

So leading into the season after a good pre-season of planning and winter netting, the aim was to throw the youngsters in at the deep end and give them the chance to take their opportunities and become match winners. The three in particular whom I've played with in the last few years who are the central focus and nucleus to my plans are Phil Dunnett (appointed vice-captain), Tom Edrich (who showed us glimpses of his talent the previous year) and Ashley Sivarajah (who bowled well in the last two years). All were to be given the prime slots in the side after discussing their roles with them in the winter with the combination of myself and the other senior players contributing.

However, in the very first competitive game of the season in bizarre fashion a freak injury to my Achilles struck when batting in a run chase in the National against Colchester and East Essex at home ruling me out potentially for the rest of the season. Bitter pill to swallow and all sorts of thoughts running through my mind in regards to my best laid plans. However, much credit must be given to my young vice at the time Phil Dunnett who, after discussing and encouraging him, stepped up and agreed to skipper the side. Knowing my plans and that I would be there assisting him on and off the pitch albeit with one leg was more than enough for Phil to agree.

And so to the season:

The first half of the season was somewhat mixed with results. After getting a disappointing losing draw in our first game against Shepherds Bush where the weather intervened, the second game saw us get beaten by the eventual league winners North Mid with a notable 1st league 50 for young Tom Edrich and a very good 48 from our overseas recruit Chris Blake. The third game saw us at home against Harrow Town where we registered our first league win in twenty months after bowling superbly (Woffinden with 4 and our Blake with 3) restricting them to 108 and then Edrich seeing it through with a good 46 alongside Phil with 19. A great sight to see the youngsters seeing it through and very much part of the transition period. The squad felt that the monkey was well and truly off our back and it was time to kick on.

Unfortunately the following game against Harrow St Mary's (who would end up beating us twice in the year) didn't quite go to script. Getting inserted on a damp one, we were skittled for a relatively low score of 115 which they ended up knocking off with relative ease. The next game at home saw the side bounce back with a good win over high flying Brentham with Woffinden in the wickets again (3) and young Ashley Sivarajah announcing himself with a tidy bowling display which ended up in him getting three also. Another 50 from Edrich which we were all getting used to by now and a great 72* from Blake who really put Brentham to the sword saw us claim a well-earned 10 points.

The weather played its part in the next game at Uxbridge and we ended up with four points after trying to chase down 187 in 20 overs. The following game would see us at home against Brondesbury, a team who had come down with us from the Prem and a good test to see where we were. With overs being reduced, the game was shortened and we were left with 48 overs to chase 196, a brave declaration we thought and very much achievable. However, with a quartet of decent seamers Brondesbury really put the skids on us and we were never in the hunt. Not for the first time this season we were bowled out in the penultimate over and didn't really deserve anything.

Newly promoted Ickenham were next at home and the side once again bounced back with a telling victory bowling the oppo out for 97, the chief destroyer Dave Woffinden with a 6-fer alongside Ashley who bowled well. Edrich seeing it through with another good 44 not out was pleasing. What was encouraging at this point from the sidelines was that the team after a loss were putting the record straight by winning in the very next game but ultimately consistency proved to be a real problem throughout the season and the second half would portray that.

The final game of the first half the season saw us travel to Harrow where truth be told we should have won the game or at least got four points but ended up getting one by not figuring out the correct run rate. Our triple threat of slow bowlers (Woffs - 3, Ash - 2 and Haseeb - 3) all playing their part and restricting Harrow to 207. After getting off to a good start and looking set to win comfortably we failed to get the four point total ending up on 200 when it was 201 needed. Bitterly disappointing but positives were yet another good steady innings of 72 from Edrich.

Lying in mid-table, the second half of the campaign started away at Shepherds Bush on one of the hottest days of the year coupled with our best batting display of the year. The Bush after winning the toss inserted us and how they would regret it. A batting master class from Chris Blake and Tom Edrich ensued resulting in a 217 run opening partnership. Maiden tons in the league for the new Southgate opening pair, great signs moving forward. Declaring after 50 overs on 285 gave us a chance but on such a benign pitch it was always going to be hard work. Woffs with another 4-fer and Ash picking up two bowled really well but could only manage to get them eight down but a decent four points nevertheless.

The next test was against top of the table North Midd who were demolishing teams week in week out and were looking the real deal after threatening in past seasons. After restricting them to 202 of 55 overs with a fine bowling display from yet again Woffs (3-fer) and Ash (4-fer) bowling 21 overs straight there was a real sense of belief that 202 in 45 overs was chaseable. Once again our batting would let us down although credit must be given North Midd who produced the best bowling display of the year against us, skittling us for 105.

As consistency would prove, we bounced back the very next game dishing it out to Harrow Town bowling them out for 139. This could have been much lower if it wasn't for their number 10 who managed to get 40. Ashley (3-fer) and Woffinden (5-fer again) bowling 20 overs each in tandem with two good run-outs. The chase would be a fairly easy one and would leave us everything to

play for going into the backend of the campaign, especially with the news that the skipper who had responded well to his treatment and after some fairly intense rehab would be back for the last six games.

A special mention and thank you must be given to my vice Phil Dunnett who did a fantastic job in my absence under some real testing times with no more than four ex-captains in the side. To captain, keep wicket and bat in the top order was probably too much a burden on such young shoulders but Phil really took it in his stride and did a thoroughly good job. He more or less carried out the blueprint of what was discussed between himself and me on a Friday night and in the off-season to ensure that the team was on the right track.

The first game back for myself was against Harrow St Mary's who after getting promoted last year were proving that they belonged in this division with a win against Brondesbury a few weeks earlier. Winning the toss we decided to bowl and for 40 overs looked on top of things 135-6. Good signs with some tight bowling and backed up by good fielding. However, the last 12 overs were somewhat ill disciplined and ended up in us handing them 110 runs resulting in them reaching 242 in 53 overs. A tough target to chase but the team were in the mood to have a good stab at it. Chris Blake (64) got us off to a flyer but with wickets falling we were always up against it. As was the case throughout the season, the middle order did not fire and we were left with a bitter taste in our mouth as we ended up handing the 10 points to them after collapsing and getting bowled out with nine balls to spare.

The next game saw us at Brentham and was very similar to the loss the week earlier; however, we managed to grab a point after bowling really well for 49 overs restricting them to 186-8 but couldn't quite finish them off and they meandered to 217 off the maximum 55 overs. Very frustrating as all the bowlers bowled well but we couldn't land that telling blow but a target we thought was very chaseable. However, early wickets meant once again we were up against it. A dismal performance with the bat resulted in us reaching 132-8 off 45 overs with the only shining light being Tom Edrich who belied his years and batted through the entire innings with a gutsy 72*. A very pleasing innings from Tom and one which showed real character and maturity.

With other results not going our way and with only four games to go in a very tight compressed league we were hovering towards the bottom end of the table. A home game against Uxbridge which in hindsight would be our worst performance of the year saw us capitulate to new levels. Again after bowling with great discipline and fielding excellently we restricted Uxbridge to 174 with the duo of Ashley (5-fer) and Woffinden (2-fer) the chief tormentors ably backed up by Blake and Johnson. The chase started in great fashion with Chris Blake (88) blitzing it to all parts and it would look like an early finish the way he was playing. Then disaster struck with two unnecessary run-outs which completely shifted the momentum of the game. The score read 137-4 after those two run outs and what followed after that was a complete aberration. Having needing only 40 runs off 20 overs we somehow managed to collapse (not for the first time) to 153 all out meaning the last six wickets falling for 16 runs.

A few choice words were spoken in the dressing room by a bitterly disappointing skipper but we had to move on and learn from it to try to get something in the last three games.

All fixtures the following week were a complete wash out and so the remaining two games we needed to get maximum points to salvage some pride and get up that table, back to back wins not achieved all year.

The penultimate game was against second to bottom Ickenham, the toss was lost and we were inserted on a very good looking track. Chris Blake (88) made full use of this alongside Tom Edrich and both put on a fantastic hundred partnership with Chris despatching the ball to all parts of the ground with his powerful strokeplay and Edrich being a great foil at the other end. Typically a mid-order mini collapse after drinks ensued but some good late resistance from the lower order got us to 270 of 55 overs. Some powerful top order hitting saw Ickenham get off to a flyer in the first 10 overs with the score on 80 but the introduction of the ever reliable twin pairing of Dave Woffinden and now Ashley Sivarajah slowed things up dramatically. Woffinden (4-fer) bowled with great control in his last league match and tied the batters up in all sorts of knots. Ashley (3-fer) at the other end did what he had done so well this year and closed his end up as well as asking probing questions. Both as they have been doing all season bowled great in tandem and have also formed a formidable partnership. To be honest they haven't given the other slow bowlers a look-in which is a good thing even though Haseeb Bajwa came on at the end and picked up the last three wickets. A much needed 10 points and a great sign that the team was finally clicking late on in the season.

The final league game saw us against third place Harrow and, after the debacle at their place, a little pay back was in order. Our performance in our last fixture at home was of pure dominance. With the toss negotiated we decided to bowl and the opening pair of Blake and Mir set the tone troubling the batters from the off. This continued throughout the whole innings with Ashley/Berman and Johnson as well as Haseeb bowling well. It's fair to say it was one of the most polished bowling displays on the field we have churned out in the 2013 season and something to look forward to going into next season.

Blake and Edrich broke the spine of the chase with a 90 run partnership with Chris (another 81!) in imperious form dominating from ball one and the game was won with 15 overs to spare. Chris was been a great acquisition for the club this year and it is tragic for Southgate that he has chosen to set greater challenges for himself elsewhere next year. His bowling came on leaps and bounds and he would have become a greater asset next year.

So we finish off in mid table at the end of the season with a points tally of 72, only four points behind third.

Looking back at the season as a whole I would say that consistency was our downfall. If we could have just finished teams off or kept our disciplines we would have certainly ended up as third best or maybe even challenged for promotion. Yes, the team was experimented with and changes were made with the old guard making way for the youngsters but that was always the plan.

The transition period and the plan to rebuild has certainly come to fruition this year with most of the boxes ticked. It was always going to be difficult to rebuild a 1st team that can carry Southgate forward as I can't recall it being done in my time at Southgate, but the youngsters have really grasped their opportunities and proved they are genuine 1st team players now.

The key contributors this year with the bat have been the new dynamic opening duo of Chris Blake and Tom Edrich. Both have had an outstanding year scoring 1350 league runs between them with Chris in his first season just missing out on being the league's top run scorer by 12 runs. He scored 743 runs with an average of 49.53 with five fifties and a hundred. Tom has had a fantastic first season opening the batting, scoring 609 runs with an average of 43.50 with four fifties and a superb maiden league hundred.

On the bowling front Dave Woffinden and Ashley Sivarajah were the standouts.

It was a real breakthrough year for Ash as I had given him the backing he was going to be the 1st choice spinner in the side and he duly obliged with 36 wickets bowling an incredible 222 overs.

Dave Woffinden has been a captain's dream picking up 38 wickets with his subtle variations and vast experience as well as his brilliant control.

In summary the foundations for a new team have been built and next year will be a very important year for the club. We must strive to be the best in that league as I believe with one or two additions we should be in the mix for promotion; however, between now and then a lot of hard work has to be done.

We are by no means the finished article and the thing which probably let us down the most this season has been our batting. Apart from the opening pair of Blake and Edrich who amassed 1350 runs between them not one batsmen passed 200 runs. The bowling has been very good with Woffinden and Ashley picking up 74 wickets between them. These bowling and batting numbers usually puts a side right up there in the promotion mix at the end of the season providing other guys in the team have contributed but the truth is no-one has really come to the party so it's very much something to think about next year for all concerned.

I'd just like to thank all that have been involved with the side this year; I have a very good feeling about our chances next year providing we work hard and improve on our efforts this year.

Faisal Mir

Southgate members RIP

Along with several more prominent older members of Southgate Cricket Club who have died over the last year and are reported elsewhere in this publication, it is sad to relate the loss of three Honorary Members: Pam Boadella, Pat Slipper and Ron ("The Postman") Hamilton. Pam and her late husband Geoff came to Southgate in the 1970s after very many years with Northampton Polytechnic CC. After Geoff died, Pam finally moved to Suffolk to be with her daughter Janet and husband Nigel Bishop, both active SCC members. Pat Slipper died on 22nd March from stomach cancer, less than three years after her husband and Southgate stalwart Geoff. Ron Hamilton had been unwell for several months and died on 26th June aged 74. He was a loyal supporter and would come up to the ground for a lager after finishing his post round even if there was no cricket. He was also a Middlesex county member and both clubs suffered from his dry and perceptive criticisms. Our former caterer and ex-Shepherds Bush player Russell Collins died suddenly in retirement in Kent on 1st June. Our condolences go to all their families: we shall miss them all.



Ron Hamilton enjoying the county cricket at Southgate



Pat Slipper

2013 1st XI League Averages

BATTING	$(* = not \ out)$										
	Mchs	Inns	N/O	Runs	Average	H'st	v Opposition 10	00/50	s Ct	St	
C. M. C. Blake	17	17	2	743	49.53	115	Shepherds Bush (a)	1/5	4	-	
T. W. Edrich	17	17	3	609	43.50	115	Shepherds Bush (a)	1/4	4	-	
J. B. Jouning	12	11	6	198	39.60	52*	Harrow (a)	-/1	8	-	
A. K. Durgacharan	11	11	1	175	17.50	41	Brentham (h)	-/-	4	-	
P. J. Robinson	4	4	1	52	17.33	20	Uxbridge (h)	-/-	1	-	
R. A. Johnson	15	13	3	170	17.00	54	Ickenham (a)	-/1	9	-	
A. Saeed	9	8	1	103	14.71	32	Brentham (h)	-/-	1	-	
P. M. Dunnett	16	13	2	156	14.18	43	Harrow St Mary's (h) -/-	14	9	
T. J. Allan	3	2	0	24	12.00	14	Shepherds Bush (a)	-/-	4	-	
K. Setia	6	5	1	45	11.25	21	Harrow St Mary's (h) -/-	5	-	
T. H. L. Hadgie	10	5	1	44	11.00	22	Brondesbury (h)	-/-	7	-	
T. J. Yeomans	6	6	1	42	8.40	24	Shepherds Bush (h)	-/-	1	-	
J. D. Berman	3	1	0	6	6.00	6	North Middlesex (h)	-/-	1	-	
F. A. Mir	5	4	0	22	5.50	15	Ickenham (a)	-/-	1	-	
P. A. Sivarajah	15	6	3	16	5.33	8*	Ickenham (a)	-/-	2	-	
D. A. Woffinden	11	5	0	26	5.20	12	Brondesbury (h)	-/-	2	-	
S. Wadham	6	4	0	14	3.50	8	Harrow St Mary's (a)) -/-	-	-	
M. L. Stratten	3	3	0	11	3.66	8	Harrow St Mary's (h) -/-	1	-	
H. A. Bajwa	13	6	2	8	2.00	3	Harrow St Mary's (a) -/-	2	-	
O. Ali	2	1	1	2	2.00	2	North Middlesex (a)	-/-	-	-	
K. Jankowicz	1	0	0	0	-	-	Uxbridge (a)	-/-	1	-	
S. Faruqi	1	0	0	0	-	-	Uxbridge (a)	-/-	-	-	
S. R. Ellis	1	0	0	0	-	-	Ickenham (h)	-/-	-	-	

23 players.

BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ	5wkt	Best	v Opposition
D. A. Woffinden	155.3	43	521	38	13.71	24.55	3.35	2	6-21	Ickenham (h)
R. A. Johnson	109.1	11	460	23	20.00	28.47	4.21	-	4-53	Brentham (a)
A. P. Sivarajah	222.0	35	834	36	23.16	37.00	3.75	1	5-96	Uxbridge (h)
T. H. L. Hadgie	70.0	20	180	7	25.71	60.00	2.57	-	2-9	Harrow Town (h)
H. Bajwa	63.1	7	311	10	31.10	37.90	4.92	-	3-7	Ickenham (a)
S. Wadham	36.0	4	156	5	31.20	43.20	4.33	-	2-7	North Middlesex (a)
J. D. Berman	14.0	4	32	1	32.00	84.00	2.28	-	1-17	Harrow (h)
C. M. C. Blake	90.2	9	372	10	37.20	54.20	4.11	-	3-14	Harrow Town (h)
F. Mir	13.0	0	58	1	58.00	78.00	4.46	-	1-22	Harrow (h)

MIDDLESEX COUNTY CRICKET LEAGUE

SECOND TEAM LEAGUE TABLES 2013

Division One - Second Teams											
	Games Played	Won 10pts	Tied 5pts	Drawn 4pts	Drawn 1pt	Aband 1pt	Lost Opt	Pen Pts	Total Points		
Richmond	18	9	0	<i>5</i>	1	2	1		113		
Acton	18	6	0	<i>3</i>	1	1	7		74		
Ealing	18	<i>5</i>	0	<i>5</i>	1	2	<i>5</i>		<i>73</i>		
Teddington	18	<i>5</i>	0	4	<i>3</i>	1	5		<i>70</i>		
Finchley	18	6	0	1	<i>3</i>	2	6		69		
Eastcote	18	<i>5</i>	0	4	<i>3</i>	2	4	(5)	66		
Uxbridge	18	<i>5</i>	0	0	9	2	2		61		
North Middlesex	18	4	0	2	<i>5</i>	2	<i>5</i>		<i>55</i>		
Hampstead	18	4	0	2	2	2	8		<i>5</i> 2		
Stanmore	18	2	0	4	2	2	8		40		

Division Two - Second Teams											
	Games Played	Won 10pts	Tied 5pts	Drawn 4pts	Drawn 1pt	Aband 1pt	Lost Opt	Total Points			
Hornsey	18	9	0	2	2	2	3	102			
Shepherds Bush	18	8	0	4	0	1	5	<i>97</i>			
Twickenham	18	8	0	2	2	1	5	91			
Indian Gymkhana	18	8	0	2	1	2	5	91			
Brondesbury	18	7	0	1	2	2	6	<i>78</i>			
Winchmore Hill	18	6	0	1	2	2	7	<i>68</i>			
Barnes	18	<i>5</i>	0	1	2	<i>3</i>	7	<i>5</i> 9			
Harrow	18	<i>3</i>	0	5	2	<i>3</i>	5	<i>55</i>			
Brentham	18	4	0	0	<i>3</i>	<i>3</i>	8	46			
Wembley	18	2	0	1	3	<i>3</i>	9	<i>30</i>			

	Division	1 Thre	e - Se	econd	Team	s		
	Games Played	Won 10pts	Tied 5pts	Drawn 4pts	Drawn 1pt	Aband 1pt	Lost Opt	Total Points
Highgate	18	10	0	4	2	1	1	119
Ickenham	18	9	0	<i>3</i>	2	1	3	105
Enfield	18	8	0	2	<i>3</i>	2	3	93
Kenton	18	9	0	0	0	1	8	91
Southgate	18	7	0	4	0	2	5	88
South Hampstead	18	6	0	1	3	1	7	68
North London	18	5	0	1	6	2	4	62
Wycombe House	18	4	0	1	1	1	11	46
Bessborough	18	<i>3</i>	0	2	2	2	9	42
Edmonton	18	<i>3</i>	0	1	0	1	13	<i>35</i>

2nd XI

There is no season's report available but an account of the final league match is worth reproducing here as a record of an incredible achievement. The documented club records indicate this is the highest ever "chased down" total, the previous record being 302 for 2 by the 4th XI v South Hampstead IV (1987 League) at Haydon Hall in 2004.

Ickenham II v Southgate II at Ickenham 7 September 2013

Southgate won by 3 wickets; Southgate 10 points Ickenham 327-2 dec (45 overs)
Southgate 331-7 (53 overs)
K Jankowicz 80, M Hughes 75, S Ellis 40

The second team came into the final game of the season with nothing to play for but pride! The greatest prize of all. After winning the toss and deciding to bowl we were faced with an opening partnership that included their Kiwi overseas pro who smashed us for 90 odd off about 3 overs at the Walker Ground earlier in the season. We knew that an early wicket was essential and, 261 runs later, we had our well-deserved wicket! Goldstone, the young Kiwi, was eventually out for 161, LBW to Jankowicz in a fantastic spell of bowling, ending one of the finest displays of batting that I have ever seen. Unlike the innings at our place, in which we dropped him second ball and went on to drop him three more times, this innings was literally chanceless.

At 45 overs Ickenham declared at 327 for 2 with the other opener, Crompton, not out for 119.

NB – Tea had some fantastic profiteroles.

So 328 from 55 overs was the target we had ahead of us. Jankowicz and Hughes strode out to the crease with the team feeling a strange sense of optimism over the huge task that laid ahead of us. Like theirs, our opening partnership got off to a fantastic start. Hughes played the most splendid innings for his 75. He showed an array of shots hitting 4s on the ground to all areas of the field with his only 6 sailing into sight screen from the best hit leading edge I have had pleasure to witness. Jankowicz led the charge and used his feet to upset the length of the opening bowlers which allowed him to hit numerous 6s, including the biggest 6 I have ever seen – I swear the ball was still rising as it flew over the sightscreen to be lost forever!

After losing the opening pair Southgate never fell far below the required run-rate but did keep losing wickets. Each batsman made a contribution including a trademark, rapid 40 from Ellis, including 24 from an over (no biggie).

But it was left to the youngsters to finish it off. De Crescenzo, making his 2nd team debut, made a valuable contribution near the end before Stratten and Kalagara, unbeaten on 23 and 24 respectively, finished off the best run chase of the season, Kalagara hitting a final 6 to end the game with over four overs to spare.

Scott Ellis



The victorious Southgate 2nd XI at Ickenham

Back, l-r: Karl Jankowicz, Sam Wadham, Mark Hughes, Marcello De Crescenzo, Sam Faruqi, Tuan Hadgie. Front: Matt Stratten, Scott Ellis, Max Joseph, Suresh Kalagara, Ollie Bellwood.

2013 2nd XI League Averages

BATTING										
	Mchs	Inns	N/O	Runs	Average	H'st	v Opposition	100/50s	Ct	St
A. Saeed	3	3	1	210	105.00	110*	North London (a)	2/-	-	-
P. J. Robinson	3	3	1	161	80.50	106*	Bessborough (h)	1/-	1	-
D. A. Woffinden	2	2	1	77	77.00	42*	Kenton (h)	-/-	-	-
T. J. Yeomans	4	4	1	177	59.00	70*	Enfield (h)	-/2	-	-
J. B. Jouning	2	2	0	88	44.00	50	Kenton (h)	-/1	1	-
S. R. Ellis	5	5	1	173	43.25	69*	Edmonton (a)	-/1	-	1
K. Jankowicz	10	9	0	369	41.00	85	Ickenham (h)	-/3	4	-
S. Kalagara	13	10	4	214	35.66	60*	Wycombe House (a) -/2	2	-
T. H. L. Hadgie	3	3	0	105	35.00	60	Enfield (a)	-/1	1	-
M. P. G. Joseph	15	15	2	372	28.61	78*	Kenton (h)	-/2	7	-
K. Setia	3	2	0	51	25.50	44	Ickenham (h)	-/-	1	-
A. J. Carr	10	5	4	24	24.00	8*	Kenton (a)	-/-	1	-
J. D. Berman	12	6	2	80	20.00	27	South Hampstead (h	n) -/-	3	-
M. Hughes	7	7	0	135	19.28	75	Ickenham (a)	-/1	1	-
S. Faruqi	14	8	3	88	17.66	32	South Hampstead (h	n) -/-	4	-
O. Bellwood	15	15	2	203	15.61	48	Highgate (h)	-/-	6	-
O. Hassan	14	9	2	94	13.42	28	North London (a)	-/-	12	3
P. K. Lassman	4	3	0	39	13.00	28	Wycombe House (a) -/-	1	-
M. L. Stratten	13	13	2	177	11.80	53*	Wycombe House (a) -/1	2	-
S. Wadham	8	4	0	45	10.25	18	Enfield (a)	-/-	2	-
A. Kennedy	3	3	0	30	10.00	12	Bessborough (a)	-/-	1	-
D. G. Ashley	2	1	1	9	9.00	9	Kenton (a)	-/-	-	-
R. Bynoe	3	3	0	25	8.33	16	Highgate (a)	-/-	1	-
S-R. Sharma	3	3	0	12	4.00	8	Bessborough (a)	-/-	1	-
J. D. Dangerfield	2	1	0	0	0.00	0	Wycombe House (h) -/-	1	-
C. Fordham	2	1	0	0	0.00	0	Highgate (a)	-/-	-	-
R. Desai	3	3	0	9	-	5*	Enfield (a)	-/-	1	-

Played in one match: T. J. Allan 35 (1 ct); M. De Crescenzo 12; G. Dissanayeke dnb; A. K. Durgacharan 8 (2 ct); A. M. Jouning dnb; F. Mir 6 (1 ct); A. Quiyum 26; S. Rae 0; P. Robson 0. 36 players in total.

BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ	5wks	Best	v Opposition
D. A. Woffinden	36.0	6	89	8	11.12	27.00	2.47	1	7-63	Kenton (h)
R. Desai	32.5	6	102	6	17.00	32.83	3.10	-	3-27	Bessborough (a)
S. Faruqi	104.4	13	415	24	17.29	26.16	3.95	2	6-29	S. Hampstead (h)
A. J. Carr	81.3	20	249	14	17.78	34.92	3.05	-	4-16	Wycombe House (a)
S. Kalagara	127.2	23	458	24	19.08	31.83	3.59	2	5-36	Bessborough (a)
K. Jankowicz	50.1	4	184	9	20.44	33.44	3.66	-	3-17	Wycombe House (a)
S. Wadham	53.0	11	209	7	29.85	45.42	3.94	-	2-10	Wycombe House (h)
J. D. Berman	53.2	10	206	6	34.33	53.33	3.86	-	2-29	Enfield (a)
T. H. L. Hadgie	25.0	3	105	1 1	105.00	150.00	4.20	-	1- 37	South Hampstead (h)

Also bowled (under 20 overs): O. Bellwood 5.0-0-38-1; R. Bynoe 17.0-7-34-3; C. Forden 13.0-5-33-1; A. Quiyum 7.0-3-17-0; A. Saeed 2.4-0-15-0; K. Setia 17.0-1-40-4; M. L. Stratten 17.5-4-82-2; T. J. Yeomans 15.1-4-41-3.

3rd XI

1987 Cricket League

DIVISION 1 2013

	pld	won	wdw	ldw	ab	lost	Pen	Pts*
Middlesex Tamil SSC - 3rd XI	18	10	3	1	1	3	0	114
Southgate CC - 3rd XI	18	10	1	4	1	2	0	109
South Hampstead CC - 4th XI	18	7	3	0	1	7	0	83
Enfield CC, Middx - 3rd XI	18	8	0	1	1	8	0	82
Indian Gymkhana CC - 3rd XI	18	6	3	0	1	8	0	73
Old Actonians CC - 3rd XI	18	5	4	4	1	4	0	71
Wycombe House CC - 3rd XI	18	6	2	2	1	7	0	71
Bessborough CC - 3rd XI	18	3	3	5	1	5	0	49
Twickenham CC - 4th XI	18	3	3	3	1	8	0	46
Teddington CC - 4th XI	18	4	0	2	1	10	0	44



2013 3rd XI

Back, 1-r: Roy Marett, Shiv-Raj Sharma, Seb Rae, Will Temple, Ally Lynch, Adrian Carr, Ricky Gunn, Ravi Desai. Front: Paul Lassman, Mike Carter, Niroosh Sugumaran, Alex Kennedy.

Ravi Desai was awarded the 1987 Cricket League's Division One bowling award for taking the most wickets (34). Roy Marett was close behind with 33.

2013 3rd XI League Averages

BATTING

(* = not out)

	Mchs	Inns	N/O	Runs	Average	H'st	v Opposition	100/50s	Ct	St
W. S. J. Temple	8	5	4	47	47.00	19*	Bessborough III (h)	-/-	5	4
R. Bynoe	8	6	1	178	35.60	57*	Wycombe House III (a) -/1	5	-
R. D. Gunn	11	8	4	135	33.75	38	Twickenham IV (h)	-/-	7	2
R. Uppal	3	3	0	98	32.66	56	Wycombe House III (a) -/1	3	-
D. Robson	4	3	1	62	31.00	43	Old Actonians III (a)	-/-	6	-
S-R. Sharma	8	8	1	214	30.57	85*	Teddington IV (a)	-/2	2	1
A. Kennedy	7	6	3	91	30.33	36*	Indian Gymkhana III (1	h) -/-	4	-
P. Robson	6	6	1	140	28.00	73*	Twickenham IV (h)	- /1	1	-
A. M. Jouning	7	7	1	157	26.16	48	Old Actonians III (h)	-/-	6	-
R. Desai	12	7	5	51	25.50	16*	South Hampstead IV (1	n) -/-	2	-
A. Lynch	7	7	1	145	24.16	96*	Bessborough III (h)	-/1	3	-
P. K. Lassman	13	13	0	246	18.92	71	Old Actonians III (a)	-/1	8	-
M. Hughes	5	5	0	80	16.00	51	Indian Gymkhana III (a	a) -/1	1	-
R. A. Marett	15	7	4	45	15.00	15*	MTSSC III (h)	-/-	6	-
M. De Crescenzo	7	7	1	87	14.50	26	Enfield III (a)	-/-	3	-
M. D. Carter	15	8	2	79	13.16	23	Bessborough III (a)	-/-	9	-
S. Rae	7	7	0	78	11.14	41	Wycombe House III (h) -/-	4	-
S. Syed	5	5	0	45	9.00	21	Enfield III (h)	-/-	-	-
T. Wickham	3	3	0	16	5.33	7	Twickenham IV (h)	-/-	-	-
M. Milne	4	2	0	6	3.00	6	Enfield III (h)	-/-	2	-
A. J. Carr	5	1	0	0	0.00	0	Enfield III (a)	-/-	2	-
N. Sugumaran	4	1	1	0	-	0*	Old Actonians III (h)	-/-	-	-

Played in two matches

S. Ashton, 14, 8 (1 ct); J. Geale 1, 7 (6 ct); P. Kuleratne 32, 0 (1 ct); J. van der Welte 11*, 0; 8, 1.

Played in one match: L. Babwah dnb; S. M. Babwah dnb; J. D. Berman 0*; P. Clark 0 (1 ct); P. Davis 2; W. Dias dnb, (1ct); D. Gordon 8; M. Grainger 0; I. W. Henley 1; D. Marett dnb; R. Martin dnb; M. Millar 19; D. Pyzer-Knapp 2; J. Thomson dnb (1 ct); D. K. Walters 0. (41 players)

BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ	5wks	Best	v Opposition
A. J. Carr	68.2	15	164	16	10.25	25.62	2.40	1	6-43	S. Hampstead IV (a)
A. M. Jouning	12.0	1	58	5	11.60	14.40	4.83	1	5-12	Twickenham IV (h)
R. Desai	116.1	17	420	34	12.35	20.50	3.61	2	5-23	O. Actonians III (h)
R. Bynoe	89.2	24	240	18	13.33	29.77	2.68	-	4-5	Enfield III (a)
N. Sugumaran	24.0	4	77	5	15.40	28.80	3.20	-	3-11	Twickenham IV (a)
R. A. Marett	171.1	32	518	33	15.69	31.12	3.02	1	5-64	Bessborough III (a)
M. Milne	26.0	1	99	6	16.50	26.00	3.80	-	2-22	Wycombe Hse III (h)
P. Kuleratne	18.0	1	89	5	17.80	21.60	4.94	-	4-65	MTSSC III (a)
J. van der Welde	23.0	1	74	4	18.50	34.50	3.21	-	2-36	Wycombe Hse III (a)
M. D. Carter	123.0	20	446	23	19.39	32.08	3.62	1	7-60	Old Actonians III (a)

Also bowled: J. D. Berman 6.0-1-12-1; L. Babwah 3.0-0-31-0; M. De Crescenzo 1.4-0-30-0; D. Gordon 7.0-0-34-4; S. Rae 6.0-0-62-0; D. Robson 1.0-0-1-0; J. Thomson 6.0-1-23-1; T. Wickham 1.0-0-9-0.

Ted Major

Seymour (Ted) Major died on 11 December 2013 aged 82.

Elected to the club in 1952, Ted served Southgate well in various secretarial positions and on numerous sub-committees. He played mostly 2nd XI cricket but captained the Extra 1st XI in 1969-70. He will be remembered for his strong character and friendly manner. A well-known local solicitor, many members have been grateful for his help and advice.

Mike Dunn remembers: "Ted Major was an old friend of Southgate. Older players and members will remember him as a stand-up wicket



keeper and 'nudger', and also as a great friend of many people. He turned to golf in later life, owning a house on one of the Spanish courses for warmer weather.

"Privately he had many interests. He practised as a solicitor in Enfield. He could trace his family history back over centuries. He was never short of conversation, and was a man you could always trust."

In 1980 Ted and Mary retired to Ireland to run a hotel but it was too successful and he was far too busy for his liking so he returned to England and resumed his law practice. It was while in Ireland that he joined the local village cricket club to discover he was the only right-handed player in the side. He was a genuinely generous man and he excused the blue Rolls Royce on the grounds that he had accepted it in lieu of payment from a client who couldn't otherwise pay his fees.

Mike Dunn remarks further "It was his kindness perhaps that I will recall most. You do not meet that kind of man so much today. He was certainly in my top three gentlemen who I have been fortunate to call friends during my 73 years. I personally will miss him greatly."

Peter Davies recalls "I, too, have many happy memories of (the later years of) Ted's playing career, in the Sunday 2nd XI and the A XI. I was, in fact, captain when he scored what I believe was his only century for the club, away against North London on the Calthorpe ground. Batting first, I had delayed the declaration more that somewhat as Ted entered the 90s, but as five o'clock sounded felt that we couldn't reasonably bat on much longer (the score being 200+ as I recall), so I signalled that there would be just one more over. Ted – whose innings thus far had consisted primarily of the "nudges" that Micky mentions – promptly hit the bowler back over his head for an enormous straight six to reach his ton, and strode purposely off the field acknowledging the applause!"

I would add that when he got back to Southgate that night, nobody needed to put their hand in their pocket for the rest of the evening.

We at Southgate offer our sincere condolences to Mary, Seymour jnr, Christianne and their families and are grateful to have known such a unique individual as Ted Major.

RDG

4th XI League

THE 1987 CRICKET LEAGUE 2013

Insufficient players made themselves available for much of the season for the club to be able to field a fourth strength Saturday side in Division 5 of the 1987 Cricket League. This was all the more astonishing in view of the numbers of maturing colts theoretically on the books but both they and those adults who had dallied with the 4th XI in previous years either felt they had other priorities or found themselves precipitated into the 3rd XI.

Having scratched five out of the first six fixtures we automatically forfeited our right to take part in the competition and the only result to date was peremptorily erased from the records. However, although we lost that intervening match to Bessborough IV, it did provide Doug Gordon an opportunity to score a sheet anchor 96. Six further fixtures were played at a "friendly" level as players become available and another game disappeared when North Middlesex failed to arrive under the mistaken belief that the 4th XI had been disbanded for the season. All very unsatisfactory, and we have had to fight a battle to be allowed to remain in the 1987 League for 2014. I have given my word to the league luminaries that we will not disappoint them.

Stats have consequently 'marked time' for a year as no competitive results were recorded in 2013.

Leading Southgate 4th XI 1987 League career aggregates 2000-2012

BATTING										
	Matches	Innings	Not Outs	Runs	Highest	Average	100s	50s	Catches	Stmpgs
R D Gunn	102	93	15	2660	150*	34.10	4	11	67	43
H M Dowsett	138	125	19	2548	107*	24.04	1	16	33	0
L J W Stokes	98	87	20	2426	134*	36.21	8	8	32	0
D Gordon	139	117	21	2384	64	24.83	0	10	41	0
M Stavri	115	97	19	1017	63	13.04	0	1	44	2
K Haria	42	36	7	970	145*	33.45	1	4	17	2
M T Clucas	49	38	11	621	66	23.00	0	2	12	0
I W Henley	47	40	8	595	69	18.59	0	1	17	0
C S McEachern	22	19	3	519	103*	32.44	1	3	5	0
M Millar	28	23	5	490	80*	27.22	0	3	11	0
A Jain	27	24	0	453	60	18.88	0	2	14	0
S Cradock	30	25	10	404	49	26.93	0	0	13	0
BOWLING										
	Overs	Maidens	Runs	Wickets	Average	Strike	Economy	Best	5 wkts	
L J W Stokes	975.1	149	3640	201	18.11	29.11	3.73	7-17	9	
A Hawthorn	432.4	75	1551	85	18.25	30.52	3.59	5-23	3	
A G H Rolt	394.0	63	1665	70	23.79	33.77	4.23	5-31	1	
A Habberley	455.2	49	1762	68	25.91	40.16	3.87	6-42	2	
R M Hewit	410.1	72	1942	59	32.92	41.71	4.74	4-77	0	
S Cradock	247.1	43	1069	53	20.17	27.97	4.33	5-20	4	
R A Marett	248.3	60	737	51	14.45	29.21	2.97	8-41	2	
M T Clucas	274.3	24	1174	43	27.30	38.27	4.28	4-31	0	
D Gordon	150.1	24	598	33	18.12	27.29	3.98	8-25	1	
N Chadwick	204.3	41	666	33	20.18	37.15	3.26	5-55	1	

Southgate Colts

At last we could enjoy a summer with very little interference from bad weather and as the 2013 campaign drew to a close it saw the Under 11s and Under 13 sides win their respective 2nd division titles and the Under 15s avoid relegation in a strong division, so all three teams will begin the 2014 season at 1st division status.

The number of active colts between the ages of 8 and 15 totalled 82. We were once again heavily reliant on Jeremy Dangerfield (Under 13s) Adrian Carr (Under 11s) and Doug Gordon (Under 10s) but Mark Hughes and Will Temple again provided valuable support at the junior end. Shiv-Raj Shah and Mustapha Mirza also assisted to very useful effect as did Graham Clark with the Under 13s and a number of parents with the Under 11s. Ricky Gunn filled in wherever required on the busy Monday night sessions but managed the Under 15s training on Sunday mornings.

Middlesex East Area Colts competitions

Under 15s

Because of other sporting commitments, Sunday morning practice was seldom attended by more than ten colts and invariably fewer. However, new arrivals Yash Depala and Anuj Shah, joined later by Louis Stirling augmented the team to useful effect and both practice and matches were tackled with good spirit. However, we lacked the regular services of some of the stronger players for most of the games because of other evening demands.

The skipper Mustapha Mirza generally led by example, his batting powerful when it came off and his bowling always treated with utmost respect by the oppositions. Without wishing to sound unkind, however, his theories in the field were at times puzzling and seemed based on inspiration rather than logical thought. Mustapha scored the most runs (147 at 18.38) but too often fell victim to impatience. When he stayed at the wicket he could be highly productive and his unbeaten 50 against Winchmore Hill B proved by the end of the campaign to be a valuable win for the side. His bowling was fast and accurate and although he only took six wickets at 15 runs apiece he always put pressure on the batsmen.

Ravi Martin took 10 wickets at an average of 14 and was genuinely quick. However, at times he found the atmospheric conditions difficult to contend with and his quick natural away-swingers found themselves propelling wide past the slips at just the time when we needed to tie down the opposition. Tom Cura became a vital cog in the side and scored 123 runs at 17.57 and has a very safe pair of hands. His persistence in working to improve his game is to be congratulated.

Christian McLoughlin kept wicket tidily and was not afraid to stand up to the quicker bowlers and put pressure on the batsman looking to drive from outside the crease. After a nightmare start of three ducks in the first four games he put some more consistent scores together to finish with 113 at 12.56. Yash Depala proved a useful all-rounder, Ishaan Verma bowled tidily and with some success and Harvey Lowe's limited appearances were usually successful with the bat although the accuracy of his calling left something to be desired. Jack Lisamore's progress week by week was marvellous to see and his left-arm bowling (plus his flick for four to win the last critical game) showed how he had made himself indispensable.

Ricky Gunn

Under 13s

The under 13's success came from an excellent team spirit and commitment. James Dangerfield captained maturely, scored runs and took eight catches. Henry Thompson bowled aggressively and scored important runs. Liam Babwah, Joe Lisamore, Tom Clark, William McCardle, Joe Brown and Devin Dhanki all made significant contributions with bat or ball and the whole squad played a part in winning the division title.

Jeremy Dangerfield

Under 11s

In 2013 the U11s had a very successful and enjoyable season, culminating in promotion from their Division and entry and some progress in the wider county knockout competition.

Everything crystallised mid-season after we were defeated by the narrowest of margins away at Cockfosters. The players understood that we had lost by virtue of the number of wides conceded and that in sticky conditions which prevented the hitting of boundaries, our inability to run and/or judge singles (we suffered five run-outs) meant that the scoring ground to a halt.

After spending almost the entirety of the following Monday evening's training session doing nothing more than practising running singles and concentrating on bowling straight we thereafter proceeded to reel off a run of stunning victories which saw us finish top of the league.

The mainstays of the batting were Tom Stanton and Sulaiman Mirza's powerful hitting and Liam Patel and Edward McArdle's innings building maturity. Harry Showell, William McLoughlin, Alex Stanton and Gautam Datta all showed immense promise which I'm sure will be translated into a weight of runs next year when they are bigger and stronger but still Under 11.

The bowling stars were Alan Babwah, Harry Showell and Alex Stanton who all seemed to take wickets every time they bowled. Ollie Gakhar, Gautam Datta, Liam Patel and Tom Stanton also showed good bowling techniques without necessarily taking as many wickets as they may have expected.

By the end of the season the fielding had reached a very high standard with Liam Patel, Harry Showell, Sulaiman Mirza, Omar Khan and Dillan Patel especially excelling.

The season was closed with a most enjoyable Boys v Fathers match on the main pitch rounded off by a wonderful curry kindly provided by Liam's mum.

Adrian Carr

Under 10s

The Under 8 to Under 10 section thrived under Doug Gordon's supervision with the valuable energetic support of Mark Hughes and Will Temple. Many of the Year 5s will be needed to augment the Under 11 side in 2013 and their grounding at this basic level will be invaluable to them as they engage competitive cricket for the first time. Alex Stanton in particular performed well in the Under 11 league games in 2013 and his experience will put him in good stead to lead the side in the coming season.

Colts Awards 2013

Thanks to a strong battalion of highly supportive parents, a total of 71 attended the Colts Supper and Awards Evening on 11th October.

Awards were presented to the following young players:

Performance: Endeavour:

Under 15 Mustapha Mirza
Under 13 Henry Thompson
Under 13 Tom Clark
Under 11 Tom Stanton
Under 11 Omar Khan
Under 10 Alex Stanton

Southgate Club caps were awarded to Ravi Martin, Tom Cura, Henry Thompson and Tom Clark.

Again, a big 'thank you' on behalf of the club to all those helping with the colts. The encouragement and support on and off the field was exceptional this year, culminating in the magnificent curry evening run by the Under 11s parents but, in particular, masterminded by Shruti Patel and her husband Amit. A barbecue evening was also celebrated after a match between the Under 13s and their parents and coaches.

With Mark and Will now away at university we are critically in need of assistance next season at the junior end in particular – and anywhere else, come to that. Help from the club playing membership is a matter of necessity so please offer yourselves, even on rotation, for a couple of hours each week, April to July.

Ricky Gunn

Guy Hammond



Guy Hammond (elected 1955) died on 17th January 2014 aged 90. Two months earlier, his daughter Jill had arranged a coach to take 24 friends from Southgate to visit him for his 90th birthday at his nursing home at Chessington which it was clear he – and his guests – enjoyed immensely.

Guy played chiefly for the 3rd XI and captained the side in the early 1960s. Playing as a top-order batsman, he scored his only hundred for the 3rd XI at home to Enfield III in 1965. A great organiser and perfect gentleman, Guy served on numerous committees for many years and

was elected President of the Club in 1984, a position he held with great dignity for four years. During World War II he had served as a navigator on board an Avro Lancaster bomber and in business life worked for a shipping company in the City.

In later years he and his wife Doris regularly attended matches and the club's social functions. Always delightful company, he was a gentle, warm-hearted and caring man who looked after Doris when she developed Alzheimer's disease for some ten years. Shortly after she died, he himself suffered a devastating stroke which rendered him physically and vocally paralysed for the remaining four years of his life. Daughter Jill and her family arranged his move from Oakwood to a care home in Surrey near where they lived where she visited him every day. Behind that sadly inert face his eyes were very much alive and Jill could tell that his mind was still fully active in those last years.

RDG

Maciej Maciejewski

Jaroslaw Maciej Maciejewski died at the beginning of June from rhenal cancer after spending three weeks in hospital. He was 79.

Curiously, at the end of the last 1st XI League match in 2012 Peter Jouning said to Maciej "See you next year!". Maciej replied "Oh, no you won't." Peter assumed that he wasn't impressed with the idea of Division 2 cricket and thought no more about it. It may have been that Maciej knew he was ill and might not even survive the winter. All very enigmatic, consistent with the man.

Just 13 mourners attended a curiously enlightening funeral at Honor Oak Crematorium, as different facets about Maciej became revealed to each person there. Derek Honnor read an account of Maciej's life: born in Warsaw in 1934, Maciej and his family moved to Germany to escape the overrun of Poland by the Nazis in 1939 but spent the war in a labour camp. Working in a kichen, Maciej was able to smuggle out morsels for his parents. In 1945 they came to London and lived in Southgate High Street. Maciej attended Hazlewood School in Palmers Green and then Southgate County School in Fox Lane before studying for a degree at the LSE where, according to Maciej, he played a lot of bridge. He took over his father's printing business in Southwark and branched



into LP album covers where he met the leading popular recording artists of the 1970s. In more recent years he worked with (or more likely against!) Sandy White at Sandy's packaging plant in Palmers Green.

He was very knowledgeable on paintings, opera and classical music – and quick to admonish anyone who transgressed against audience etiquette. As well as supporting Southgate 1st XI through thick and thin - but not without an ascerbic critical opinion - he was also very keen on tennis which he played well into old age.

On the field he was always immaculately attired in professionally laundered shirt and trousers. He was a left-hand bat and in his earlier days bowled left-arm medium pace. He scored 101 against Winchmore Hill 'B' in 1974 but the achievement was rather overshadowed when they came to field because Jim Stokes proceeded to take all ten wickets – an account Maciej found fun in retelling.

Maciej's funeral was a unique and moving occasion. One of his former female colleagues from Sandy White's company remarked during her tribute "I wonder what Maciej would have made of this? He would probably look down at us and say "Haven't you all got anything better to do?!""





Maciej Maciejewski hooking against Chingford III at the London Transport Ground, Walthamstow 1974.



MIDDLESEX LEAGUE 1ST XI - 1972-2013

Leading personal aggregates

BATTING	League	:			(* = no	t out)		Fielding			
	Career	Mch	s Inns	NO	Runs	H'st	Average	100s	50 s	Ct	St
J. B. Jouning	1987-13	317	307	33	7828	114	28.56	7	42	109	5
G. S. Rowe	1975-04	344	318	37	7582	102	26.98	3	43	147	-
A. K. Durgacharan	1990-13	26 3	243	24	4979	103	22.73	2	28	81	-
W. J. Dean	1989-11	25 3	224	32	4383	115	22.82	5	13	81	-
J. D. Dangerfield	1986-12	303	261	51	4208	101*	20.03	1	15	100	-
M. T. Dunn	1975-93	199	168	28	3465	119	24.75	2	14	87	-
B. R. Hartman	1991-11	203	175	22	3342	110	21.84	2	16	44	-
C. J. Payne	1972-82	110	102	22	2975	116*	37.18	4	18	60	-
M. L. Creese	1997-12	124	109	14	2902	184*	30.54	4	16	79	-
R. J. Ashby	1973-84			35	2100	93*	26.25	-	6	35	-
A. V. Spencer	1991-99			6	2053	116*	25.03	1	13	25	-
A. R. Jenner	1974-97			19	1939	80*	20.19	-	6	42	1
M. J. Brown	1999-03			2	1747	107	39.70	4	11	13	-
M. C. Smethers	1972-00			51	1670	82*	19.64	-	6	197	117
T. A. Harris	1986-90			14	1485	102	30.30	1	9	23	-
M. R. N. Slater	1989-94			4	1437	86*	24.35	-	8	23	-
B. L. Sutton	2005-06			5	1420	172*	54.61	5	7	8	-
T. J. Allan	2007-13			7	1381	128*	30.68	1	5	29	-
T. H. L. Hadgie	2007-13			12	1379	81	18.89	-	5	25	-
F. Mir	2003-13			10	1354	112	15.92	1	4	21	-
J. Potter	1983-86			4	1311	93	31.21	-	7	26	-
R. A. Johnson	2004-13			17	1257	85	14.61	-	5	41	-
N. G. Folland	1988-93			5	1228	108	31.48	1	6	24	-
S. D. Young	1972-80			9	1121	101*	23.35	1	3	21	-
C. Saville	1983-00			61	1115	48*	13.27	-		54	-
M. T. Stafford	2001-04	55	49	3	1114	105	24.21	1	7	12	-
BOWLING	Overs I	Mdns	Runs	Wkts	Av'ge	5wkt	s Best	S/R	ate I	Econor	ny
C. Saville	3315.0	731	10385	484	21.45	27	8-55	41.0)9	3.13	
R. J. Hailey	1832.4	585	4685	324	14.45	25	8-43	33.9	93	2.55	
J. D. Dangerfield	1551.1	315	4914	231	21.27	6	7-57	40.2	29	3.16	
M. L. Creese	1221.2	221	4252	210	20.24	15	9-65	34.8	39	3.48	
M. T. Dunn	1387.0	326	4169	209	19.94	10	8-41	39.8	31	3.00	
F. Mir	1102.4	144	4540	190	23.89	7	7-16	34.8	32	4.11	
R. L. Johns	994.1	305	2432	176	13.81	15	7-15	33.8	39	2.44	
W. J. Dean	993.5	108	4004	144	27.80	2	6-52	41.4	40	4.02	
R. J. Ashby	772.3	196	2190	138	15.86	7	7-36	33.5	58	2.83	
A. J. Carr	961.2	168	3333	129	25.83	5	6-19	44.7		3.46	
R. A. Johnson	846.1	94	3835	123	31.18	-	4-39	41.2		4.53	
G. S. Rowe	894.2	178	2995	117	25.59	1	5-25	45.8	36	3.34	
T. H. L. Hadgie	656.5	137	2212	99	22.34	3	7-16	39.8		3.36	
A. Wyatt	673.3	181	1959	97	20.19	1	8-32	41.6		2.90	
P. C. R. Tufnell	572.5	150	1566	95	16.48	4	7-4	36.3		2.73	
B. R. Hartman	626.4	101	2375	94	25.26	2	5-33	39.9		3.79	
A. K. Durgacharan	627.4	70	2750	91	30.22	2	6-53	41.2		4.36	
A. V. Duigaciididii	047.4	70	2/30	ЭI	30.22	2	0-55	41.4	دے	4.50	

Career records of current and recent past players to end of 2013 season

Includes all Southgate C.C. League, Cup and friendly matches but not 20-over competitions. Players new to the club in 2013 please see 2013 averages (pp 7-10)

Batting and Fielding

0		0							Field	ling
	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St
					(* = not o	*				
O Ali	145	120	30	1874	207*	20.82	3	3	29	0
T J Allan	70	64	8	1744	128*	31.14	2	7	33	0
James Allen	19	17	0	307	73	18.06	0	1	6	0
John Allen	51	29	11	273	42	15.17	0	0	18	0
D G Ashley	182	157	36	3465	118	28.64	3	17	82	3
D J Beatty	137	134	13	2513	72*	20.77	0	9	30	0
O Bellwood	59	56	6	831	100	16.62	1	3	25	0
J D Berman	83	60	10	826	59	16.52	0	2	21	0
G K Berg	34	32	4	743	128*	26.53	1	3	14	0
M A Bhatti	56	25	7	240	28*	13.33	0	0	6	0
R Bishop-Laggett	440	361	86	6949	107*	25.26	1	25	230	35
G N Blackmore	391	214	85	2145	100	16.62	1	2	129	0
C M C Blake	20	20	2	814	115	45.22	1	5	5	0
M J Brown	61	60	2	2515	120	43.36	6	15	22	7
G M Burton	544	429	133	8555	103*	28.90	1	33	125	2
R K A Bynoe	30	26	7	559	66*	29.42	0	2	12	0
H Cahill	85	58	20	247	44	6.50	0	0	41	21
A J Carr	766	553	131	9000	108	21.32	3	28	219	0
M D Carter	47	36	6	292	61	9.73	0	1	13	0
N Chadwick	249	117	64	330	23*	6.23	0	0	37	0
M T Clucas	97	77	17	919	66	15.32	0	2	20	0
S Cradock	478	317	109	4454	90	21.41	0	11	125	0
M L Creese	159	139	29	3497	184*	29.89	5	16	93	0
J D Dangerfield	734	630	122	11852	133	23.33	9	49	259	2
P S Dave	73	70	7	1481	100*	23.51	1	11	15	0
A C Davis	328	242	71	3426	118	20.04	1	6	238	68
R Dawson-Goodey	/ 22	21	3	600	80	33.33	0	2	4	0
W J Dean	584	535	65	13537	141*	28.80	11	73	226	0
M De Crescenzo	69	62	5	931	108	16.33	1	3	16	0
G P Delf	122	113	14	1988	136*	20.08	2	9	33	0
R Devarakonda	42	37	6	454	39	14.65	0	0	7	0
A Devkamalth	25	23	4	461	67	24.26	0	2	1	0
B Dharmarajah	89	63	18	729	37	16.20	0	0	18	0
M Dias	24	18	1	67	11	3.94	0	0	12	0
W Dias	29	23	5	162	31	9.00	0	0	8	0
H M Dowsett	532	487	57	9105	114*	21.17	2	35	114	0
M T Dunn	560	501	81	11783	136*	28.05	6	61	229	0
P M Dunnett	192	158	38	2676	114*	22.30	2	9	102	60

	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Fiel Ct	ding St
A K Durgacharan	602	548	58	13011	129	26.55	11	65	189	0
T W Edrich	98	93	9	3001	131	35.73	7	16	30	0
S Ellis	30	26	3	635	77	27.61	0	3	15	13
S Faruqi	138	102	25	1056	62	13.71	0	1	32	0
A L Fleming	21	19	2	729	162*	42.88	2	4	1	0
S Flook	476	261	87	2827	101*	16.25	1	7	133	0
A D Francey	32	31	3	1010	135	36.07	1	4	13	0
S Goodley	89	51	19	346	57	10.81	0	1	40	36
D Gordon	442	406	47	7469	100*	20.81	1	31	119	0
R D Gunn	1126	997	135	20392	150*	23.65	14	90	607	357
M Gurr	48	43	5	1908	141*	50.21	6	10	23	0
A Habberley	136	61	15	171	21*	3.72	0	0	14	0
T H L Hadgie	142	120	22	2100	81	21.42	0	8	36	0
K C Haria	134	117	17	2212	145*	22.12	1	8	34	2
B R Hartman	358	311	53	6265	112*	24.28	4	28	87	0
K Hassanin	49	43	7	901	117*	25.03	1	5	9	0
A Hawthorn	366	175	79	692	34*	7.21	0	0	61	0
I W Henley	367	328	33	5048	77	17.11	0	9	65	0
R M Hewit	73	35	14	94	9*	4.48	0	0	0	0
R F Hill	82	65	22	582	44*	13.53	0	0	17	0
P M G Honnor	187	170	24	4111	124*	28.16	4	25	28	0
D C J Howell	377	225	52	1713	68*	9.90	0	1	94	0
M Hughes	61	59	5	1032	102*	19.11	1	3	18	0
S C Hughes	47	45	4	1557	130	37.98	5	6	7	0
D Huntingford	20	13	4	84	17*	9.33	0	0	4	0
A Jain	41	37	1	638	60	17.72	0	4	18	0
G A Jardine	304	289	29	6559	134*	25.23	5	26	80	6
A R Jenner	1095	1029	164	25820	132*	29.85	23	142	409	4
R A Johnson	220	176	25	3031	162*	20.07	1	15	69	0
M P G Joseph	50	48	6	1231	103*	29.31	1	4	18	0
A M Jouning	259	227	52	3737	70*	21.35	0	10	122	0
J B Jouning	670	645	66	16781	138*	28.98	13	99	268	20
S Kalagara	36	26	8	459	60*	25.50	0	2	5	0
V Katyal	49	43	8	522	56	14.91	0	1	4	0
A Kennedy	34	32	5	641	74	23.74	0	3	14	0
M P B Kennedy	174	133	30	2589	125	25.13	1	12	108	46
P K Lassman	185	135	36	1583	75*	15.99	0	3	74	0
C Le Roux	21	17	0	370	55	21.76	0	3	11	0
R Loganathan	55	53	6	1317	102*	28.02	1	10	13	0
T J Lucas	188	105	38	989	87	14.76	0	3	131	69
R A Marett	70	52	27	820	101*	32.80	1	1	21	0
R J Marshall	258	248	19	5710	121	24.93	8	25	43	0
N M Mazhar	53	39	8	300	49	9.67	0	0	18	1
S J P McGuinness		103	25	1447	70	18.55	0	7	42	1
M Millar	126	106	16	1534	80*	17.04	0	5	32	0
F Mir	239	194	38	3337	130*	21.39	2	14	44	0
K Mitchell	125	60	19	245	36	5.98	0	0	22	0
F Mullahzada	105	84	7	1561	109*	20.27	1	5	24	0
									~	

	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Fiel Ct	ding St
R Mullahzada	48	27	6	268	48*	12.76	0	0	12	0
A Munawar	18	10	4	67	33	11.17	0	0	3	0
B Oduwole	31	29	1	288	89	10.29	0	1	3	0
C J Payne	507	483	95	16209	146	41.78	26	95	281	1
A Popat	28	22	1	294	79	14.00	0	1	7	0
D Pyzer-Knapp	49	45	4	775	81*	18.90	0	4	13	9
A Quiyum	42	37	6	523	65	16.87	0	1	8	0
P J Robinson	127	119	19	3039	127*	30.39	2	18	53	0
A G H Rolt	384	249	49	1969	76	9.85	_	2	60	_
G S Rowe	1184	1115	136	30873	163*	31.54	33	182	450	1
A Saeed	27	26	4	613	110*	27.86	2	3	4	0
I C Salter	44	40	8	799	76*	24.97	0	5	10	0
J T Sambrook	79	73	4	1445	80	20.94	0	7	17	0
C Saville	602	386	143	4002	72*	16.47	0	4	157	0
D P Seccull	91	87	15	3817	152*	53.01	10	22	43	0
Arvind Shah	33	23	10	126	27	8.15	0	0	4	0
S-R Sharma	54	50	3	973	121*	20.70	2	3	17	1
T Siddiqui	44	24	7	142	40	8.35	0	0	8	0
C Silva	31	19	1	85	17	4.72	0	0	2	0
R Silva	22	15	3	170	47	14.17	0	0	4	0
M D J Singleton	68	41	15	398	39	15.30	0	0	44	31
A P Sivarajah	78	51	19	331	65*	10.34	0	1	21	0
T Sivarajah	149	73	25	410	65	8.54	0	1	19	0
W N Slack	30	30	3	1288	128	47.70	2	10	20	0
A V Spencer	245	243	26	7324	125*	33.75	11	39	69	0
M T Stafford	133	113	16	2664	105	27.46	2	14	46	0
M O Stevens	169	148	22	3417	111	27.12	3	18	60	4
C P Stevenson	66	65	8	2128	110*	37.33	3	11	36	0
L J W Stokes	465	380	93	7738	134*	26.96	9	30	104	2
M L Stratten	27	26	2	399	67	16.63	0	2	6	0
N Sugumaran	28	15	5	62	8	6.20	0	0	0	0
B L Sutton	54	53	7	2071	172*	45.02	5	13	23	2
W S J Temple	42	33	9	261	31	10.88	0	0	15	7
J Thomson	39	30	8	269	60	12.23	0	1	7	0
J C Thorpe	163	88	33	1068	101*	19.42	2	2	32	0
N J Tohill	150	138	15	3410	132	27.73	3	15	48	3
S J Tohill	50	47	3	1690	146	38.41	2	10	20	0
P C R Tufnell	95	42	16	344	36*	13.23	0	0	23	0
M van Rhoon	106	104	9	3773	140	39.72	5	21	51	2
A J Vinson	158	134	23	2259	104	20.35	2	7	18	1
B F Vinson	40	26	7	238	45*	12.53	0	0	5	0
C A Waller	403	391	29	10323	111	28.52	7	46	130	2
D K Walters	178	97	31	234	24	3.55	0	0	11	0
G A Wates	23	22	3	796	130	41.89	2	4	8	0
J R Watkins	34	28	4	565	103	23.54	1	2	11	0
FWP Webb	73	69	4	1471	76	22.63	0	8	18	0
P I W Wilmshurst	117	73	17	521	36	9.30	0	0	26	0
J G Wilson	96	91	10	2154	107	26.10	3	6	10	0

									Field		
	Matches	Inning	s N/Os	Runs	Highest	Average	100s	50s	Ct	St	
G N Wingrove	207	117	41	815	55	10.72	0	1	60	0	
M Wloch	69	63	9	1040	115	19.26	1	1	24	2	
D A Woffinden	257	215	42	5179	104*	29.93	2	31	72	0	
K Yeh	40	38	2	522	81*	14.50	0	3	7	0	
T J Yeomans	94	88	13	1820	113	24.26	1	12	18	0	

Bowling

	Overs	Mdns	Runs	Wkts	Average	Best			Economy () (Runs/ov)
O Ali	865.3	76	4296	140	30.69	7-17	5	37.08	4.96
John Allen	388.4	41	1531	65	23.55	4-38	0	35.87	3.93
D G Ashley	235.0	32	965	40	24.13	6-11	1	35.25	4.11
O Bellwood	54.0	2	281	4	70.25	1-5	0	81.00	5.20
G K Berg	323.0	60	1043	55	18.96	6-50	2	35.23	3.22
J D Berman	412.0	55	1808	60	30.13	3-34	0	41.20	4.38
M A Bhatti	621.3	124	1994	99	20.14	7-62	4	37.63	3.21
R Bishop-Laggett	132.0	14	552	22	25.09	3-24	0	36.00	4.18
G N Blackmore	3462.0	742	11506	613	18.77	6-11	14	33.88	3.32
G M Burton	1914.5	181	8137	344	23.65	5-26	4	33.39	4.24
R K A Bynoe	264.3	58	780	41	19.02	4-5	0	38.68	2.95
A J Carr	6568.5	1240	21608	1075	20.10	8-49	39	36.66	3.29
M D Carter	310.5	47	1186	56	21.18	7-52	2	33.27	3.82
N Chadwick	2108.3	371	7651	283	27.04	8-30	13	44.69	3.62
M T Clucas	402.1	34	1701	62	27.44	4-5	0	38.91	4.23
S Cradock	4399.2	949	14006	600	23.34	7-41	12	43.99	3.18
M L Creese	1553.5	278	5683	276	20.23	9-65	19	33.77	3.59
J D Dangerfield	3819.5	701	12679	622	20.38	7-23	15	36.85	3.32
P S Dave	68.1	4	423	20	21.15	4-38	0	20.43	6.21
W J Dean	2922.1	319	11945	473	25.25	6-40	7	36.97	4.08
M De Crescenzo	159.0	6	896	29	30.90	4-34	0	32.90	5.63
R Devarakonda	65.5	4	389	14	27.79	3-8	0	28.21	5.90
B Dharmarajah	534.4	80	2023	71	28.49	4-46	0	45.18	3.78
M Dias	103.0	7	526	15	35.07	3-48	0	41.20	5.11
W Dias	84.5	5	397	12	33.08	3-24	0	42.25	4.70
H M Dowsett	12.2	0	93	2	46.50	1-12	0	37.00	7.54
M T Dunn	3817.5	900	11679	650	17.97	8-32	20	35.24	3.06
P M Dunnett	184.1	21	840	23	36.52	3-39	0	48.03	4.56
A K Durgacharan	2761.2	365	10941	481	22.75	8-60	22	34.44	3.96
T W Edrich	161.3	12	907	20	45.35	2-24	0	48.39	5.62
S Faruqi	1018.2	115	4424	164	26.97	7-35	4	37.25	4.34
A L Fleming	269.1	43	917	31	29.58	7-43	1	52.09	3.40
S Flook	3663.1	719	12809	469	27.31	6-27	8	46.86	3.49
R Freckleton	142.3	20	567	28	20.25	5-33	2	30.53	3.97
D Gordon	409.1	44	1859	86	21.62	8-25	1	28.54	4.54
R D Gunn	47.3	8	140	6	23.33	2-1	0	47.50	2.94
M Gurr	39.4	8	149	4	37.25	2-10	0	59.50	3.75
A Habberley	922.1	105	3735	129	28.95	6-42	3	42.89	4.05
									Continued

	Overs	Mdns	Runs	Wkts	Average	Best		5wkts S/Rate Economy		
									(Runs/ov)	
T H L Hadgie	901.5	157	3270	130	25.15	7-16	3	41.60	3.62	
R J Hailey	3706.1 10.2	1120	9731	715	13.61	8-25	48	31.10	2.62	
K C Haria		102	75	4	18.75	2-11	0	15.50	7.26	
B R Hartman	1265.1	193	4889	192	25.46	8-33	4	39.53	3.86	
K Hassanin	172.2	8	830	32	25.93	4-10	0	32.29	4.82	
A Hawthorn	2851.0	531	10095	380	26.57	7-12	7	45.02	3.54	
R M Hewit	541.4	74	2173	66	32.92	4-77	0	49.22	4.01	
R F Hill	534.1	84	1997	65	30.72	4-42	0	49.30	3.74	
P M G Honnor	290.0	47	1123	42	26.74	4-18	0	41.42	3.87	
D C J Howell	1602.1	194	6799	196	34.69	7-27	2	49.04	4.24	
M Hughes	9.0	0	56	4	14.00	3-22	0	13.50	6.22	
D Huntingford	113.3	12	523	21	24.90	3-45	0	32.37	4.61	
A R Jenner	1737.4	158	8065	438	18.41	7-34	18	23.80	4.64	
R A Johnson	1493.4	140	6310	240	26.29	5-30	2	37.34	4.23	
A M Jouning	1075.3	165	4132	211	19.58	7-64	5	30.58	3.84	
S Kalagara	331.6	62	1226	51	24.04	5-36	0	39.01	3.70	
V Katyal	89.1	8	480	15	32.00	3-31	0	35.64	5.39	
P K Lassman	585.1	44	3346	102	32.80	5-35	2	34.42	5.72	
C Le Roux	174.0	21	685	22	34.13	3-9	0	47.45	3.93	
R Loganathan	124.2	7	549	27	20.33	5-13	1	27.60	4.42	
R A Marett	801.1	149	2587	122	21.20	8-41	4	39.38	3.23	
N M Mazhar	205.2	13	1135	41	27.68	5-59	2	30.03	5.53	
S J P McGuinness	465.5	50	2098	64	32.78	3-34	0	43.64	4.50	
M Millar	195.0	11	1013	36	28.14	3-15	0	32.50	5.19	
F Mir	1737.2	213	7397	288	25.68	7-16	8	36.19	4.26	
K Mitchell	1459.5	269	5518	246	22.43	7-76	9	35.60	3.77	
F Mullahzada	789.5	105	3281	41	23.27	5-17	2	33.60	4.16	
R Mullahzada	336.3	63	1246	70	17.80	5-3	4	28.83	3.71	
A Munawar	136.0	16	482	18	26.78	4-38	0	45.33	3.54	
B Oduwole	65.0	6	330	16	20.63	7-45	2	24.38	5.08	
A Popat	143.3	17	628	42	14.95	5-13	2	20.50	4.37	
D Pyzer-Knapp	33.2	1	188	5	37.60	3-60	0	39.84	5.66	
A Quiyum	384.2	58	1473	41	35.92	5-65	1	56.22	3.83	
P J Robinson	244.5	21	1176	40	29.40	6-44	1	36.68	4.81	
A G H Rolt	1408.4	180	6529	257	25.40	7-37	3	32.88	4.63	
G S Rowe	4996.1	936	17114	849	20.15	9-21	12	35.30	3.42	
I C Salter	274.3	25	1258	39	32.26	4-30	0	42.23	4.58	
C Saville	7456.4	1676	23113	1162	19.89	8-30	57	38.50	3.10	
D P Seccull	47.2	7	239	4	59.75	2-19	0	71.00	5.04	
Arvind Shah	331.2	40	1460	63	23.17	7-51	5	31.50	4.41	
C E Shreck	227.5	31	795	37	21.48	4-19	0	36.94	3.48	
T Siddiqui	420.4	61	1684	72	23.39	4-12	0	35.05	4.00	
C Silva	149.5	12	712	19	37.47	3-27	0	47.21	4.76	
R Silva	114.3	10	535	14	38.21	2-15	0	48.99	4.68	
		366	4115	192	21.43	6-62	3	45.03	2.85	
T Sivarajah A P Sivarajah	1441.1 729.5	300 101	2904	192	23.04	6-40	5 5	43.03 34.74	3.98	
M T Stafford		150	2904 3607	126 171		7-86				
	988.0 455.1				21.09		6	34.66	3.65	
M O Stevens	455.1	60	1886	92	20.50	7-54	3	29.68	4.14	
C P Stevenson	163.3	35	486	22	22.09	3-24	0	44.54	2.98	

	Overs	Mdns	Runs	Wkts	Average	Best	5wkts	S/Rate	Economy
							(Balls/wk	t) (Runs/ov)
L J W Stokes	3548.0	595	13991	656	21.33	8-30	17	32.45	3.94
M Stratten	52.5	5	245	12	20.42	3-34	0	26.25	4.66
N Sugumaran	188.0	27	570	35	16.29	4-26	0	32.23	3.03
J Thomson	213.0	21	974	29	33.59	3-31	0	44.07	4.57
J C Thorpe	1231.4	211	4258	201	21.18	6-21	4	36.76	3.45
N J Tohill	223.5	19	1069	33	32.39	6-44	1	40.72	4.77
P C R Tufnell	1023.2	240	3051	194	15.72	7-4	7	31.64	2.98
M van Rhoon	332.3	69	1002	49	20.44	5-22	1	40.69	3.02
A J Vinson	818.1	103	3492	136	25.68	7-60	5	36.09	4.27
B F Vinson	256.2	37	922	30	30.73	4-26	0	51.24	3.60
D K Walters	612.1	60	3026	76	39.81	4-40	0	48.32	4.94
G A Wates	220.3	35	789	34	23.20	7-73	1	38.91	3.57
P I W Wilmshurst	480.0	63	2191	88	24.90	6-23	1	32.72	4.56
J G Wilson	39.5	2	200	2	100.00	1-21	0	119.50	5.02
G N Wingrove	1839.0	186	7705	409	18.83	8-67	12	26.98	4.19
M Wloch	112.1	9	494	13	38.00	2-1	0	51.74	4.41
D A Woffinden	1662.1	379	5755	309	18.62	8-41	13	32.27	3.46
T J Yeomans	274.4	41	1117	32	34.90	5-21	1	51.45	4.07